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1)

Question Stimulus :­

Fill in the blank with the suitable option given below.

He studies in ____ University.

one

the

a

an

Correct Answer :­a 

2)

Question Stimulus :­

Fill in the blank with the suitable option given below.

I will be back in ____ hour.

the

a

an

to

Correct Answer :­an 

3)

Question Stimulus :­

Fill in the blank with the suitable option given below.

Today I saw ____ one eyed man in our locality.

an



a

some

the

Correct Answer :­a 

4)

Question Stimulus :­

Fill in the blank with the suitable option given below.

Ghost stories are a lot of fun, ____ you tell them late at night with the lights off.

whether

if

though

although

Correct Answer :­if 

5)

Question Stimulus :­

Fill in the blank with the suitable option given below.

The door opened ____ the man walked in.

but

where

and

because

Correct Answer :­and 

6)

Question Stimulus :­

Fill in the blank with the suitable option given below.

____ of the children wanted to go to the zoo.

Less



The few

Little

Few

Correct Answer :­Few 

7)

Question Stimulus :­

Fill in the blank with the suitable option given below.

I have ____ money to start a retail business.

all

whole

enough

any

Correct Answer :­enough 

8)

Question Stimulus :­

Shreya’s instructor  says  that  she____    play the violin pretty well in half a year.

may

could

will be able to

will have to

Correct Answer :­will be able to 

9)

Question Stimulus :­

My cat _____ very high when it was younger.

could jump

could have jumped

might be able to jump



had to jump

Correct Answer :­could jump 

10)

Question Stimulus :­

One of the hikers ____ get out of the trench.

can

might

was able to

had to

Correct Answer :­was able to 

11)

Question Stimulus :­

Sohan said, “I bought a book yesterday”. (Change the narration)

Sohan said that he had bought a book yesterday

Sohan said that he had bought a book the day before

Sohan said that he bought a book yesterday

Sohan said that he has bought a book yesterday

Correct Answer :­Sohan said that he had bought a book the day before 

12)

Question Stimulus :­

Rohan is going to play cricket   ____ sunday.

on

at

in

for

Correct Answer :­on 

13)



Question Stimulus :­

My  father’s  birthday  is ____  the 5th of June..

at

in

on

till

Correct Answer :­on 

14)

Question Stimulus :­

My birthday is ____ January.

in

on

at

during

Correct Answer :­in 

15)

Question Stimulus :­

DIRECTIONS: Read the passage below and answer the questions that follows:

A hole  in  the  topmost  layer  of  the  sun  and  its magnetic  field,  the  size  of  50  Earths,  is
letting  loose an ultrafast solar wind that has kicked off several nights of auroras down
on Earth.

A new  image,  from NASA's orbiting Solar Dynamics Observatory,  reveals  the enormous
hole as it was on Oct. 10, taken at an ultraviolet wavelength unseen by the human eye.
To  an  ordinary  observer,  the  gaping  hole  would  be  invisible,  though  you  should  never
stare at the sun because serious eye damage can result.

The gap in the sun's magnetic field lets out a stream of particles travelling at up to 500
miles per second, kindling a days­long geomagnetic storm upon hitting Earth.

Coronal holes normally form over the sun's poles and lower  latitudes, more often when
the  sun  is  at  a  less  active  point  in  its  11­year  cycle.  They  are  areas  within  the  sun's
outermost  layer,  called  its corona, which are  lower density and cooler —  that, plus  the
weakened magnetic field, lets the plasma and charged particles that make up the corona
stream out more easily in a solar wind. If aimed toward Earth, that spells the makings of
a geomagnetic storm: a phenomenon that can affect power and navigation for satellites



orbiting the Earth as well as radio communication.

Another wayward effect of a geomagnetic storm is enhanced northern lights: the glowing
auroras  that  often  form  in  the  night  sky  over  the  northernmost  reaches  of  the  planet
grow much  brighter  and  can  even  extend much  farther  south  than  usual.  Geomagnetic
storms and auroras can also be caused by other sun phenomena, such as solar flares and
coronal  mass  ejections,  which  both  blast  the  corona's  material  outward  because  of
increased magnetic activity.

As the coronal hole continues its slow march westward on the sun's surface, solar winds
will stay strong, NOAA officials said in a statement, which may lead to additional minor
geomagnetic storming. Thus, bright auroras will likely continue — at least around the
Arctic Circle.

Question:­ As per the passage auroras most precisely mean to be

The gases released in the space

The bands of light

The ultra­violet rays of the  sun

The solar energy compounds

Correct Answer :­The bands of light 

16)

Question Stimulus :­

DIRECTIONS: Read the passage below and answer the questions that follows:

A hole  in  the  topmost  layer  of  the  sun  and  its magnetic  field,  the  size  of  50  Earths,  is
letting  loose an ultrafast solar wind that has kicked off several nights of auroras down
on Earth.

A new  image,  from NASA's orbiting Solar Dynamics Observatory,  reveals  the enormous
hole as it was on Oct. 10, taken at an ultraviolet wavelength unseen by the human eye.
To  an  ordinary  observer,  the  gaping  hole  would  be  invisible,  though  you  should  never
stare at the sun because serious eye damage can result.

The gap in the sun's magnetic field lets out a stream of particles travelling at up to 500
miles per second, kindling a days­long geomagnetic storm upon hitting Earth.

Coronal holes normally form over the sun's poles and lower  latitudes, more often when
the  sun  is  at  a  less  active  point  in  its  11­year  cycle.  They  are  areas  within  the  sun's
outermost  layer,  called  its corona, which are  lower density and cooler —  that, plus  the
weakened magnetic field, lets the plasma and charged particles that make up the corona
stream out more easily in a solar wind. If aimed toward Earth, that spells the makings of
a geomagnetic storm: a phenomenon that can affect power and navigation for satellites
orbiting the Earth as well as radio communication.

Another wayward effect of a geomagnetic storm is enhanced northern lights: the glowing
auroras  that  often  form  in  the  night  sky  over  the  northernmost  reaches  of  the  planet
grow much  brighter  and  can  even  extend much  farther  south  than  usual.  Geomagnetic
storms and auroras can also be caused by other sun phenomena, such as solar flares and



coronal  mass  ejections,  which  both  blast  the  corona's  material  outward  because  of
increased magnetic activity.

As the coronal hole continues its slow march westward on the sun's surface, solar winds
will stay strong, NOAA officials said in a statement, which may lead to additional minor
geomagnetic storming. Thus, bright auroras will likely continue — at least around the
Arctic Circle.

Question:­ The said phenomenon is triggered because of?

A hole in the helium hot ball

A hole in the layers of earth

A leakage in the masses in space

Extreme air pressure around the earth’s atmosphere

Correct Answer :­A hole in the helium hot ball 

17)

Question Stimulus :­

DIRECTIONS: Read the passage below and answer the questions that follows:

A hole  in  the  topmost  layer  of  the  sun  and  its magnetic  field,  the  size  of  50  Earths,  is
letting  loose an ultrafast solar wind that has kicked off several nights of auroras down
on Earth.

A new  image,  from NASA's orbiting Solar Dynamics Observatory,  reveals  the enormous
hole as it was on Oct. 10, taken at an ultraviolet wavelength unseen by the human eye.
To  an  ordinary  observer,  the  gaping  hole  would  be  invisible,  though  you  should  never
stare at the sun because serious eye damage can result.

The gap in the sun's magnetic field lets out a stream of particles travelling at up to 500
miles per second, kindling a days­long geomagnetic storm upon hitting Earth.

Coronal holes normally form over the sun's poles and lower  latitudes, more often when
the  sun  is  at  a  less  active  point  in  its  11­year  cycle.  They  are  areas  within  the  sun's
outermost  layer,  called  its corona, which are  lower density and cooler —  that, plus  the
weakened magnetic field, lets the plasma and charged particles that make up the corona
stream out more easily in a solar wind. If aimed toward Earth, that spells the makings of
a geomagnetic storm: a phenomenon that can affect power and navigation for satellites
orbiting the Earth as well as radio communication.

Another wayward effect of a geomagnetic storm is enhanced northern lights: the glowing
auroras  that  often  form  in  the  night  sky  over  the  northernmost  reaches  of  the  planet
grow much  brighter  and  can  even  extend much  farther  south  than  usual.  Geomagnetic
storms and auroras can also be caused by other sun phenomena, such as solar flares and
coronal  mass  ejections,  which  both  blast  the  corona's  material  outward  because  of
increased magnetic activity.

As the coronal hole continues its slow march westward on the sun's surface, solar winds
will stay strong, NOAA officials said in a statement, which may lead to additional minor
geomagnetic storming. Thus, bright auroras will likely continue — at least around the



Arctic Circle.

 

Question:­ Staring at the sun directly may result in?

Loss of sensory motions

Partial or complete blindness

Damage to brain cells

Collapsing of nervous system

Correct Answer :­Partial or complete blindness 

18)

Question Stimulus :­

DIRECTIONS: Read the passage below and answer the questions that follows:

A hole  in  the  topmost  layer  of  the  sun  and  its magnetic  field,  the  size  of  50  Earths,  is
letting  loose an ultrafast solar wind that has kicked off several nights of auroras down
on Earth.

A new  image,  from NASA's orbiting Solar Dynamics Observatory,  reveals  the enormous
hole as it was on Oct. 10, taken at an ultraviolet wavelength unseen by the human eye.
To  an  ordinary  observer,  the  gaping  hole  would  be  invisible,  though  you  should  never
stare at the sun because serious eye damage can result.

The gap in the sun's magnetic field  lets out a stream of particles traveling at up to 500
miles per second, kindling a days­long geomagnetic storm upon hitting Earth.

Coronal holes normally form over the sun's poles and lower  latitudes, more often when
the  sun  is  at  a  less  active  point  in  its  11­year  cycle.  They  are  areas  within  the  sun's
outermost  layer,  called  its corona, which are  lower density and cooler —  that, plus  the
weakened magnetic field, lets the plasma and charged particles that make up the corona
stream out more easily in a solar wind. If aimed toward Earth, that spells the makings of
a geomagnetic storm: a phenomenon that can affect power and navigation for satellites
orbiting the Earth as well as radio communication.

Another wayward effect of a geomagnetic storm is enhanced northern lights: the glowing
auroras  that  often  form  in  the  night  sky  over  the  northernmost  reaches  of  the  planet
grow much  brighter  and  can  even  extend much  farther  south  than  usual.  Geomagnetic
storms and auroras can also be caused by other sun phenomena, such as solar flares and
coronal  mass  ejections,  which  both  blast  the  corona's  material  outward  because  of
increased magnetic activity.

As the coronal hole continues its slow march westward on the sun's surface, solar winds
will stay strong, NOAA officials said in a statement, which may lead to additional minor
geomagnetic storming. Thus, bright auroras will likely continue — at least around the
Arctic Circle.

Question:­ Coronal holes are likely to form when?



The sun is at its highest altitude

The sun has approximated half its distance with earth

The sun is at a less active point

The sun’s gaseous particles have diffused with its surroundings

Correct Answer :­The sun is at a less active point 

19)

Question Stimulus :­

DIRECTIONS: Read the passage below and answer the questions that follows:

A hole  in  the  topmost  layer  of  the  sun  and  its magnetic  field,  the  size  of  50  Earths,  is
letting  loose an ultrafast solar wind that has kicked off several nights of auroras down
on Earth.

A new  image,  from NASA's orbiting Solar Dynamics Observatory,  reveals  the enormous
hole as it was on Oct. 10, taken at an ultraviolet wavelength unseen by the human eye.
To  an  ordinary  observer,  the  gaping  hole  would  be  invisible,  though  you  should  never
stare at the sun because serious eye damage can result.

The gap in the sun's magnetic field  lets out a stream of particles traveling at up to 500
miles per second, kindling a days­long geomagnetic storm upon hitting Earth.

Coronal holes normally form over the sun's poles and lower  latitudes, more often when
the  sun  is  at  a  less  active  point  in  its  11­year  cycle.  They  are  areas  within  the  sun's
outermost  layer,  called  its corona, which are  lower density and cooler —  that, plus  the
weakened magnetic field, lets the plasma and charged particles that make up the corona
stream out more easily in a solar wind. If aimed toward Earth, that spells the makings of
a geomagnetic storm: a phenomenon that can affect power and navigation for satellites
orbiting the Earth as well as radio communication.

Another wayward effect of a geomagnetic storm is enhanced northern lights: the glowing
auroras  that  often  form  in  the  night  sky  over  the  northernmost  reaches  of  the  planet
grow much  brighter  and  can  even  extend much  farther  south  than  usual.  Geomagnetic
storms and auroras can also be caused by other sun phenomena, such as solar flares and
coronal  mass  ejections,  which  both  blast  the  corona's  material  outward  because  of
increased magnetic activity.

As the coronal hole continues its slow march westward on the sun's surface, solar winds
will stay strong, NOAA officials said in a statement, which may lead to additional minor
geomagnetic storming. Thus, bright auroras will likely continue — at least around the
Arctic Circle.

Question:­ The geomagnetic storm can be a hindrance?

In the  space where different compounds react in totality

To the earth’s atmospheric pressure belt

To the movements of navigation satellites and radio communication



In the formation of stars

Correct Answer :­To the movements of navigation satellites and radio communication 

20)

Question Stimulus :­

DIRECTIONS: Read the passage below and answer the questions that follows:

A hole  in  the  topmost  layer  of  the  sun  and  its magnetic  field,  the  size  of  50  Earths,  is
letting  loose an ultrafast solar wind that has kicked off several nights of auroras down
on Earth.

A new  image,  from NASA's orbiting Solar Dynamics Observatory,  reveals  the enormous
hole as it was on Oct. 10, taken at an ultraviolet wavelength unseen by the human eye.
To  an  ordinary  observer,  the  gaping  hole  would  be  invisible,  though  you  should  never
stare at the sun because serious eye damage can result.

The gap in the sun's magnetic field  lets out a stream of particles traveling at up to 500
miles per second, kindling a days­long geomagnetic storm upon hitting Earth.

Coronal holes normally form over the sun's poles and lower  latitudes, more often when
the  sun  is  at  a  less  active  point  in  its  11­year  cycle.  They  are  areas  within  the  sun's
outermost  layer,  called  its corona, which are  lower density and cooler —  that, plus  the
weakened magnetic field, lets the plasma and charged particles that make up the corona
stream out more easily in a solar wind. If aimed toward Earth, that spells the makings of
a geomagnetic storm: a phenomenon that can affect power and navigation for satellites
orbiting the Earth as well as radio communication.

Another wayward effect of a geomagnetic storm is enhanced northern lights: the glowing
auroras  that  often  form  in  the  night  sky  over  the  northernmost  reaches  of  the  planet
grow much  brighter  and  can  even  extend much  farther  south  than  usual.  Geomagnetic
storms and auroras can also be caused by other sun phenomena, such as solar flares and
coronal  mass  ejections,  which  both  blast  the  corona's  material  outward  because  of
increased magnetic activity.

As the coronal hole continues its slow march westward on the sun's surface, solar winds
will stay strong, NOAA officials said in a statement, which may lead to additional minor
geomagnetic storming. Thus, bright auroras will likely continue — at least around the
Arctic Circle.

Question:­ As per the author, ‘wayward effect’ would precisely mean?

Side effect

Dual effect

Sensory effect

Following effect

Correct Answer :­Side effect 

21)



Question Stimulus :­

DIRECTIONS: Read the passage below and answer the questions that follows:

A hole  in  the  topmost  layer  of  the  sun  and  its magnetic  field,  the  size  of  50  Earths,  is
letting  loose an ultrafast solar wind that has kicked off several nights of auroras down
on Earth.

A new  image,  from NASA's orbiting Solar Dynamics Observatory,  reveals  the enormous
hole as it was on Oct. 10, taken at an ultraviolet wavelength unseen by the human eye.
To  an  ordinary  observer,  the  gaping  hole  would  be  invisible,  though  you  should  never
stare at the sun because serious eye damage can result.

The gap in the sun's magnetic field  lets out a stream of particles traveling at up to 500
miles per second, kindling a days­long geomagnetic storm upon hitting Earth.

Coronal holes normally form over the sun's poles and lower  latitudes, more often when
the  sun  is  at  a  less  active  point  in  its  11­year  cycle.  They  are  areas  within  the  sun's
outermost  layer,  called  its corona, which are  lower density and cooler —  that, plus  the
weakened magnetic field, lets the plasma and charged particles that make up the corona
stream out more easily in a solar wind. If aimed toward Earth, that spells the makings of
a geomagnetic storm: a phenomenon that can affect power and navigation for satellites
orbiting the Earth as well as radio communication.

Another wayward effect of a geomagnetic storm is enhanced northern lights: the glowing
auroras  that  often  form  in  the  night  sky  over  the  northernmost  reaches  of  the  planet
grow much  brighter  and  can  even  extend much  farther  south  than  usual.  Geomagnetic
storms and auroras can also be caused by other sun phenomena, such as solar flares and
coronal  mass  ejections,  which  both  blast  the  corona's  material  outward  because  of
increased magnetic activity.

As the coronal hole continues its slow march westward on the sun's surface, solar winds
will stay strong, NOAA officials said in a statement, which may lead to additional minor
geomagnetic storming. Thus, bright auroras will likely continue — at least around the
Arctic Circle.

Question:­ The glowing auroras have a tendency to?

Dwarf down after reaching a certain size

Grow and extend southwards

Glow brighter in the night sky

Emerge bigger in shape and size

Correct Answer :­Grow and extend southwards 

22)

Question Stimulus :­

DIRECTIONS: Read the passage below and answer the questions that follows:

A hole  in  the  topmost  layer  of  the  sun  and  its magnetic  field,  the  size  of  50  Earths,  is
letting  loose an ultrafast solar wind that has kicked off several nights of auroras down



on Earth.

A new  image,  from NASA's orbiting Solar Dynamics Observatory,  reveals  the enormous
hole as it was on Oct. 10, taken at an ultraviolet wavelength unseen by the human eye.
To  an  ordinary  observer,  the  gaping  hole  would  be  invisible,  though  you  should  never
stare at the sun because serious eye damage can result.

The gap in the sun's magnetic field  lets out a stream of particles traveling at up to 500
miles per second, kindling a days­long geomagnetic storm upon hitting Earth.

Coronal holes normally form over the sun's poles and lower  latitudes, more often when
the  sun  is  at  a  less  active  point  in  its  11­year  cycle.  They  are  areas  within  the  sun's
outermost  layer,  called  its corona, which are  lower density and cooler —  that, plus  the
weakened magnetic field, lets the plasma and charged particles that make up the corona
stream out more easily in a solar wind. If aimed toward Earth, that spells the makings of
a geomagnetic storm: a phenomenon that can affect power and navigation for satellites
orbiting the Earth as well as radio communication.

Another wayward effect of a geomagnetic storm is enhanced northern lights: the glowing
auroras  that  often  form  in  the  night  sky  over  the  northernmost  reaches  of  the  planet
grow much  brighter  and  can  even  extend much  farther  south  than  usual.  Geomagnetic
storms and auroras can also be caused by other sun phenomena, such as solar flares and
coronal  mass  ejections,  which  both  blast  the  corona's  material  outward  because  of
increased magnetic activity.

As the coronal hole continues its slow march westward on the sun's surface, solar winds
will stay strong, NOAA officials said in a statement, which may lead to additional minor
geomagnetic storming. Thus, bright auroras will likely continue — at least around the
Arctic Circle.

Question:­ Another sun phenomenon that can cause aurora is?

Air pressure mechanism

Helium trigger

Coronal mass ejections

Gas leakages

Correct Answer :­Coronal mass ejections 

23)

Question Stimulus :­

DIRECTIONS: Read the passage below and answer the questions that follows:

A hole  in  the  topmost  layer  of  the  sun  and  its magnetic  field,  the  size  of  50  Earths,  is
letting  loose an ultrafast solar wind that has kicked off several nights of auroras down
on Earth.

A new  image,  from NASA's orbiting Solar Dynamics Observatory,  reveals  the enormous
hole as it was on Oct. 10, taken at an ultraviolet wavelength unseen by the human eye.
To  an  ordinary  observer,  the  gaping  hole  would  be  invisible,  though  you  should  never
stare at the sun because serious eye damage can result.



The gap in the sun's magnetic field  lets out a stream of particles traveling at up to 500
miles per second, kindling a days­long geomagnetic storm upon hitting Earth.

Coronal holes normally form over the sun's poles and lower  latitudes, more often when
the  sun  is  at  a  less  active  point  in  its  11­year  cycle.  They  are  areas  within  the  sun's
outermost  layer,  called  its corona, which are  lower density and cooler —  that, plus  the
weakened magnetic field, lets the plasma and charged particles that make up the corona
stream out more easily in a solar wind. If aimed toward Earth, that spells the makings of
a geomagnetic storm: a phenomenon that can affect power and navigation for satellites
orbiting the Earth as well as radio communication.

Another wayward effect of a geomagnetic storm is enhanced northern lights: the glowing
auroras  that  often  form  in  the  night  sky  over  the  northernmost  reaches  of  the  planet
grow much  brighter  and  can  even  extend much  farther  south  than  usual.  Geomagnetic
storms and auroras can also be caused by other sun phenomena, such as solar flares and
coronal  mass  ejections,  which  both  blast  the  corona's  material  outward  because  of
increased magnetic activity.

As the coronal hole continues its slow march westward on the sun's surface, solar winds
will stay strong, NOAA officials said in a statement, which may lead to additional minor
geomagnetic storming. Thus, bright auroras will likely continue — at least around the
Arctic Circle.

Question:­ As per the passage, _______ is the reason for a blasting of the corona's
material outward?

increased magnetic activity

an ultraviolet wavelength

enhanced northern light

weakened magnetic field

Correct Answer :­increased magnetic activity 

24)

Question Stimulus :­

DIRECTIONS: Read the passage below and answer the questions that follows:

A hole  in  the  topmost  layer  of  the  sun  and  its magnetic  field,  the  size  of  50  Earths,  is
letting  loose an ultrafast solar wind that has kicked off several nights of auroras down
on Earth.

A new  image,  from NASA's orbiting Solar Dynamics Observatory,  reveals  the enormous
hole as it was on Oct. 10, taken at an ultraviolet wavelength unseen by the human eye.
To  an  ordinary  observer,  the  gaping  hole  would  be  invisible,  though  you  should  never
stare at the sun because serious eye damage can result.

The gap in the sun's magnetic field  lets out a stream of particles traveling at up to 500
miles per second, kindling a days­long geomagnetic storm upon hitting Earth.

Coronal holes normally form over the sun's poles and lower  latitudes, more often when
the  sun  is  at  a  less  active  point  in  its  11­year  cycle.  They  are  areas  within  the  sun's



outermost  layer,  called  its corona, which are  lower density and cooler —  that, plus  the
weakened magnetic field, lets the plasma and charged particles that make up the corona
stream out more easily in a solar wind. If aimed toward Earth, that spells the makings of
a geomagnetic storm: a phenomenon that can affect power and navigation for satellites
orbiting the Earth as well as radio communication.

Another wayward effect of a geomagnetic storm is enhanced northern lights: the glowing
auroras  that  often  form  in  the  night  sky  over  the  northernmost  reaches  of  the  planet
grow much  brighter  and  can  even  extend much  farther  south  than  usual.  Geomagnetic
storms and auroras can also be caused by other sun phenomena, such as solar flares and
coronal  mass  ejections,  which  both  blast  the  corona's  material  outward  because  of
increased magnetic activity.

As the coronal hole continues its slow march westward on the sun's surface, solar winds
will stay strong, NOAA officials said in a statement, which may lead to additional minor
geomagnetic storming. Thus, bright auroras will likely continue — at least around the
Arctic Circle.

Question:­ The passage is most likely?

A report in newspaper

A combined statement by NASA scientists

An article in a science journal

An opinion expressed in a blog

Correct Answer :­An article in a science journal 

25)

Question Stimulus :­

Every Monday, Sheela______ her kids to football practice.

drives

driving

has driven

is driving

Correct Answer :­drives 

26)

Question Stimulus :­

Usually, I  _____as an assistant  at library , but this summer I _____ French at a language school in
Paris.

work, learning



working, am learning

worked, learnt

work, am learning

Correct Answer :­work, am learning 

27)

Question Stimulus :­

Sam eats pasta. [Change into passive voice]

Pasta was eaten by Sam

Pasta is eaten by Sam

Pasta is being Eaten By Sam

Pasta has been eaten by Sam

Correct Answer :­Pasta is eaten by Sam 

28)

Question Stimulus :­

Cats catch Mice. [Change into passive voice]

Mice were caught by cats

Mice are being caught by cats

Mice are caught by cats

Mice is caught by cats

Correct Answer :­Mice are caught by cats 

29)

Question Stimulus :­

Sheryl is writing a letter. [Change into passive voice]

A letter was written by Sheryl

A letter is written by Sheryl

A letter was being written by Sheryl

A letter is being written by Sheryl



Correct Answer :­A letter is being written by Sheryl 

30)

Question Stimulus :­

Currently  Dev  is _______ a book about his adventures in Tibet. I hope he can find a good
publisher when he is _____.

Writing ,finished

Write ,finishing

Written ,finished

Writing,finishing

Correct Answer :­Writing ,finished 

Topic:­ Hindi
1)

Question Stimulus :­

ዠတन홭न耂ल耂खत शᝫ㉪दो म⼁⼁ कौन सा उपसग㨺┺ यᅜत ह।ै

समुन

सशुील

स鹧鉧दर

सरु耂भ

Correct Answer :­सशुील 

2)

Question Stimulus :­

ዠတन홭न耂ल耂खत म⼁⼁ ⅴ읳⣾ी ꖐ馐䥥ٿयय ह।ै

अनीय

इयत्

आई

इया



Correct Answer :­इया 

3)

Question Stimulus :­

व ेशᝫ㉪दाशं जो 耂ﾈ있याओ ंके अतं म⼁⼁ लगकर नए शᝫ㉪द क怐တ रचना करत ेह ैव े............ ꖐ馐䥥ٿयय कहलात ेह।ै

ⅴ읳⣾ी

कृत

त耂﷋त

इनम⼁⼁ स ेकोई नहတတं

Correct Answer :­कृत 

4)

Question Stimulus :­

जब इ ई, उ ऊ, ऋ, ल ृके आग ेकोई ⅴ읳वर होता ह ैतो य ेﾈ있मशः य, व, र, ल म⼁⼁ पတတरवዠတत㨺┺त हो जात ेहထነ इस पတတरवत㨺┺न को -----
स耂ंध कहत ेहထነ-

गणु

यण

व耂ृ﷋

अयाᘖᘏद

Correct Answer :­यण 

5)

Question Stimulus :­

अ홭बर-अ홭बार य湜幜म का सहတတ अथ㨺┺ ह-ै

अमर-अमराई

कपड़ा-耂सलाई

आकाश-एक फल 耂वशषे



वⅴ읳⣾-अ䥥ٿय耂धक

Correct Answer :­वⅴ읳⣾-अ䥥ٿय耂धक 

6)

Question Stimulus :­

कम㨺┺ और ﾈ있म म⼁⼁ अ鹧鉧तर ह-ै

काम और लगातार

नाम ओर 耂गनती

काम और तरक怐တब

वासना ओर ﾈ있म

Correct Answer :­काम और लगातार 

7)

Question Stimulus :­

भाⅴ읳कर का अनकेाथᐚā ह।ै

श耂श

रजनी

सयू㨺┺

पानी

Correct Answer :­सयू㨺┺ 

8)

Question Stimulus :­

ዠတन홭न ꖐ馐譳睳न के 耂वक鍰걯प म⼁⼁ स े耂भ鹧鉧न शᝫ㉪द को पहचाዠတनए

आखँ

अगं

नाक



कान

Correct Answer :­अगं 

9)

Question Stimulus :­

रखेा耂ंकत शᝫ㉪द के 耂लए उपय㨺ु┺ᅜत 耂वलोम शᝫ㉪द का चयन करके တတरᅜत ⅴ읳थान क怐တ पዠတत㨺┺ क怐တिजए-

स홭प鹧鉧न 捳띲यिᅜत ................................. क怐တ 捳띲यथा नहတတ ंजान सकता।

आस鹧鉧न

耂वप鹧鉧न

ዠတन덳齳प鹧鉧न

耂वष꽤鱤ण

Correct Answer :­耂वप鹧鉧न 

10)

Question Stimulus :­

सीता एक पዠတत嶔䦔ता ⅴ읳⣾ी ह।ै रखेा耂ंकत शᝫ㉪द का 耂वलोम चयन क怐တिजए।

भामा

कुलटा

व鹧鉧婦या

耂वधवा

Correct Answer :­कुलटा 

11)

Question Stimulus :­

गज का समानाथᐚā ह-ै

खर

मतगं



कपड़ा नापन ेका उपकरण

तरुगं

Correct Answer :­मतगं 

12)

Question Stimulus :­

कमल का पया㨺┺यवाची नहတတ ंह।ै

पकंज

नीर耂ध

प꽤鱤डरတတक

सरोज

Correct Answer :­नीर耂ध 

13)

Question Stimulus :­

कम㨺┺ करन ेवाल े捳띲यिᅜत को कहत ेह।ै

कम㨺┺काडंी

कम㨺┺ठ

कठोर

कुकम㨺┺

Correct Answer :­कम㨺┺ठ 

14)

Question Stimulus :­

“िजसके पास कुछ न हो” वाᅜय के 耂लए उपयᅜत शᝫ㉪द होगा।

अभाव䢊ⅴ읳त

दတတनहတတन



महादတတन

अ耂कंचन

Correct Answer :­अ耂कंचन 

15)

Question Stimulus :­

‘‘अዠတतशय रगड़ कर ेजो कोई अनल ꖐ馐गट चदंन त⼁⼁ होई’’ का प鍰걯लवन होगा-

(क) शा鹧鉧त ꖐ馐कृዠတत 捳띲यिᅜत भी अ耂धक 耂चढ़ान,े कोसन ेया तगं करन ेस ेखीज जाता ह ै/ ﾈ있﷋ हो जाता ह।ै कहा ँतक बरदाⅴ읳त
कर?े

(ख) आदमी जसैा कम㨺┺ करता ह ैवसैा हတတ फल पाता ह ैकम㨺┺ स ेभ耂व덳齳य बनता 䰁ఁबगड़ता ह।ै

उपरोᅜत वाᅜय का उ䥥ٿतर ‘क’ म⼁⼁ ዠတनᘖᘏहत ह।ै

उपरोᅜत वाᅜय का उ䥥ٿतर ‘ख’ म⼁⼁ ዠတनᘖᘏहत ह।ै

उपरोᅜत वाᅜय का उ䥥ٿतर ‘क’ एव ं’ख’ दोनो म⼁⼁ ዠတनᘖᘏहत ह।ै

उपरोᅜत वाᅜय का उ䥥ٿतर दोन삠ጀ म⼁⼁ नहတတ ंह।ै

Correct Answer :­उपरोᅜत वाᅜय का उ䥥ٿतर ‘क’ म⼁⼁ ዠတनᘖᘏहत ह।ै 

16)

Question Stimulus :­

ዠတन홭न耂ल耂खत म⼁⼁ स ेवाᅜय के श﷋ 〰〰प का चयन क怐တिजए-

फल बسحجच ेको काटकर 耂खलाओ।

बسحجच ेको काटकर फल 耂खलाओ।

बسحجच ेको फल काटकर 耂खलाओ।

काटकर फल बسحجच ेको 耂खलाओ।

Correct Answer :­बسحجच ेको फल काटकर 耂खलाओ। 

17)

Question Stimulus :­



वाᅜय के अश﷋ भाग का चयन क怐တिजए-

बड़삠ጀ क怐တ बातो को

आदर से

सनुना चाᘖᘏहए

कोई ⣾ᘖᘏट नहတတं

Correct Answer :­आदर स े

18)

Question Stimulus :­

अश﷋ वाᅜय छाᘖᘏटए-

व ेबड़ े耂वᐵᓹवान 捳띲यिᅜत ह।ै

आप अपन े耂वᐵᓹयालय जाए।ँ

मझु ेअ鍰걯मोड़ा जाना ह।ै

वहा ँᅜया जा रहा ह?ै

Correct Answer :­वहा ँᅜया जा रहा ह?ै 

19)

Question Stimulus :­

“या तो तमु सधुर जाओ या 耂वᐵᓹयालय स ेዠတनकल जान ेके 耂लए तयैार रहो” ዠတन홭न म⼁⼁ स े耂कस ꖐ馐कार का वाᅜय ह?ै

सरल वाᅜय

सयंᅜत वाᅜय

耂म耂薔熔त वाᅜय

उपरोᅜत म⼁⼁ स ेकोई नहတတ

Correct Answer :­सयंᅜत वाᅜय 

20)

Question Stimulus :­



“राम न ेमोहन क怐တ गाड़ी खरတတदတတ” इस वाᅜय का 耂म薔熔 वाᅜय म⼁⼁ 〰〰पातंर होगा-

गाड़ी खरတတदတတ मोहन न ेराम क怐တ

राम न ेउस गाड़ी को खरတတदा जो मोहन क怐တ थी

राम न ेमोहन क怐တ गाड़ी खरတတदတတ

उपरोᅜत म⼁⼁ कोई नहတတ

Correct Answer :­राम न ेउस गाड़ी को खरတတदा जो मोहन क怐တ थी 

21)

Question Stimulus :­

‘‘खनू खोलना’’ इस महुावर ेस े耂मलत-ेजलुत ेअथ㨺┺ वाला महुावरा कौन सा ह?ै

耂सर पर खनू सवार होना।

बात का बतगंड़ बनाना।

आग बबलूा होना।

खनू का 뵧ꩧयासा होना।

Correct Answer :­आग बबलूा होना। 

22)

Question Stimulus :­

‘‘खाई खोद ेऔर को ताको कूप तयैार’’-

薔熔덳े齳ठ काय   का फल मीठा होता ह।ै

परमाथ㨺┺ कई गनुा वापस आकर 耂मलता ह।ै

दसूर삠ጀ का अᘖᘏहत चाहन ेवालो का अ耂धक अᘖᘏहत होता ह।ै

दसूर삠ጀ का ᘖᘏहत चाहन ेवालो का अ耂धक ᘖᘏहत होता ह।ै

Correct Answer :­दसूर삠ጀ का अᘖᘏहत चाहन ेवालो का अ耂धक अᘖᘏहत होता ह।ै 

23)

Question Stimulus :­



‘‘बवेकूफ मत समझना ...................’’ वाᅜय को परूा करो-

मထነ भी उ鍰걯टတတ गगंा बहाना चाहता हूँ।

मထነन ेकسحجची गो耂लया ँनहတတ ंखलेတတ ह।ै

मထነ दःुखती रग पर हाथ रख सकता हूँ।

मထነ भी ᘖᘏदन म⼁⼁ तार ेदखे सकता हूँ।

Correct Answer :­मထነन ेकسحجची गो耂लया ँनहတတ ंखलेတတ ह।ै 

24)

Question Stimulus :­

नीच ेपिंᅜतय삠ጀ के सामन ेउनके अथ㨺┺ 耂लख ेह।ै इनम⼁⼁ स ेगलत अथ㨺┺ वालတတ पिंᅜत छाᘖᘏटए-

लगंोटတတ म⼁⼁ फाग खलेना - दတတर沏䮏ता म⼁⼁ आनदं

गाल बजाना - डीगं मारना

पटरတတ बठैना - 耂वचार 耂मलना

कौड़ी का तीन - बहतु अسحجछा होना

Correct Answer :­कौड़ी का तीन - बहतु अسحجछा होना 

25)

Question Stimulus :­

लोकत⣾ शᝫ㉪द 耂कस समास का उदाहरण ह?ै

ᐵᓹव鹧鉧द

त䥥ٿप〰〰ष

कम㨺┺धारय

अ捳띲ययीभाव

Correct Answer :­कम㨺┺धारय 

26)

Question Stimulus :­



‘‘जीत लတတ ह ैइि鹧鉧沏䮏या ँिजसन’े’ वाᅜय स ेसामा耂सक पद बनाइए।

इि鹧鉧沏䮏य 耂वजतेा

िजतिे鹧鉧沏䮏य

耂वजिे鹧鉧沏䮏य

कणဒि鹧鉧沏䮏य

Correct Answer :­िजतिे鹧鉧沏䮏य 

27)

Question Stimulus :­

“भावकु 텴筴दय म⼁⼁ सखु-दखु क怐တ महज कोमल अनभुዠတत” इस वाᅜय को स⭒དྷपे क怐တिजए।

सहानभुዠတत

स鹧鉧तावना

सवंदेना

सचूना

Correct Answer :­सवंदेना 

28)

Question Stimulus :­

“भारዠတतय삠ጀ क怐တ बरुတတ दशा दखेकर गाधँी जी का मन 沏䮏耂वत हो गया।” रखेा耂ंकत पद का स⭒དྷपेण कर⼁⼁।

दတတनता

द涱यवहार

ददु㨺┺शा

दᘖᘏद㨺┺न

Correct Answer :­ददु㨺┺शा 

29)

Question Stimulus :­



薔熔ीराम का ज鹧鉧म उسحجच कुल म⼁⼁ हआु। इस वाᅜय म⼁⼁ 薔熔ीराम के 耂लय ेएक शᝫ㉪द दတတिजए।

सठे

धनी

वभैवशालတတ

कुलတတन

Correct Answer :­कुलတတन 

30)

Question Stimulus :­

ዠတनि譳睳चत समय के भीतर प⣾ का उ䥥ٿतर ꖐ馐ा뵧ꩧत न होन ेक怐တ दशा म⼁⼁ अनबुोधक के 〰〰प म⼁⼁ जो प⣾ भजेा जाता ह,ै उस ेᅜया कहा
जाता ह?ै

ꖐ馐ዠတतवदेन

晒䩒ापन

पတတरप⣾

अनⅴ읳मारक

Correct Answer :­अनⅴ읳मारक 

31)

Question Stimulus :­

सम沏䮏 म⼁⼁ लगन ेवालတတ आग को ᅜया कहत ेह?ै

जठराि湜幜न

दावाि湜幜न

बड़बाि湜幜न

इनम⼁⼁ स ेकोई नहတတं

Correct Answer :­बड़बाि湜幜न 

32)



Question Stimulus :­

िजन वाᅜय삠ጀ म⼁⼁ एक उ폋뻋譳睳य तथा एक हတတ 耂वधये होता ह,ै उस ेकहत ेह?ै

एकल वाᅜय

सरल वाᅜय

耂म薔熔 वाᅜय

सयंᅜत वाᅜय

Correct Answer :­सरल वाᅜय 

33)

Question Stimulus :­

िजन वाᅜय삠ጀ म⼁⼁ 耂ﾈ있या के करन ेया होन ेक怐တ सचूना 耂मल ेउ鹧鉧ह े  ________वाᅜय कहत ेह।ै जसै ेमထነन ेदधू 耂पया, वषा㨺┺ हो रहတတ ह,ै
राम पढ़ रहा ह।ै

आ晒䩒ा वाचक

耂वधान वाचक

इسحجछा वाचक

उपरोᅜत सभी

Correct Answer :­耂वधान वाचक 

34)

Question Stimulus :­

ᘖᘏदय ेगय ेशᝫ㉪द य湜幜म के सहတတ अथ㨺┺-भदे का चयन क怐တिजए-

‘उभय-अभय’

उदासीन-ब耂ल덳齳ठ

ዠတनभ㨺┺य-दोन삠ጀ

दोन삠ጀ-ዠတनभ㨺┺य

एकता-ዠတन⹌⹌व鹧鉧ᐵᓹव



Correct Answer :­दोन삠ጀ-ዠတनभ㨺┺य 

35)

Question Stimulus :­

ዠတन홭न शᝫ㉪द य湜幜म삠ጀ म⼁⼁ कोई एक य湜幜म सहတတ नहတတ ंह,ै उसका चयन क怐တिजए-

परष-प〰〰ष

धन-पसैा

तन-तनु

नारတတ-नाड़ी

Correct Answer :­धन-पसैा 

36)

Question Stimulus :­

ዠတन홭न शᝫ㉪द य湜幜म삠ጀ के अथ㨺┺ भदे म⼁⼁ स ेकौन सा गलत ह-ै

अप⭒ेདྷा­उप⭒ेདྷा   = आशा­ዠတतरⅴ읳कार

स䝝㝝जन­साजन  = 薔熔덳े齳ठप〰〰ष­पዠတत

मौत­मात = म䥥ٿय­ुपराजय

बाद­अपवाद  = लड़ाई­ዠတनवाद

Correct Answer :­बाद­अपवाद  = लड़ाई­ዠတनवाद 

37)

Question Stimulus :­

भारत म⼁⼁ ᘖᘏह鹧鉧दတတ भाषा को आप 耂कस वग㨺┺ म⼁⼁ रख⼁⼁ग-े

राज भाषा

रा덳齳ꦍ邍 भाषा

耂वभाषा

तकनीक怐တ भाषा



Correct Answer :­रा덳齳ꦍ邍 भाषा 

38)

Question Stimulus :­

वत㨺┺मान म⼁⼁ ꖐ馐ाद耂ेशक भाषाओ ंक怐တ कुल स乜⭜या 耂कतनी ह?ै

अठारह

बाईस

पسحجचीस

चौदह

Correct Answer :­बाईस 

39)

Question Stimulus :­

उसके कम㨺┺ हတတ ऐस ेहထነ 耂क उस ेसदा हတတ ‘‘ढाक के तीन पात’’ बना रहना पड़ता ह।ै महुावर ेका अथ㨺┺ ह-ै

तटⅴ읳थ होना

थोड़ ेसमय के 耂लए परूा अ耂धकार 耂मलना

सदा एक सी दशा म⼁⼁ रहना

उपदⅴ읳थ होना

Correct Answer :­सदा एक सी दशा म⼁⼁ रहना 

40)

Question Stimulus :­

राजा न ेपल भर म⼁⼁ सब कुछ ⅴ읳प덳齳ट करत ेहएु उ耂चत 鹧鉧याय कर ᘖᘏदया । अडंरलाइन वाᅜयासं के 耂लए उपयᅜत महुावर ेका
चयन क怐တिजए-

जमीन आसमान एक करना

तीन तरेह करना

दधू का दधू पानी का पानी



तीन पाचँ करना

Correct Answer :­दधू का दधू पानी का पानी 

41)

Question Stimulus :­

हमार ेअदंर क怐တ रा덳齳ꦍ邍တတयता भदे-भाव को लकेर मरती जा रहတတ ह,ै हम ेतो ‘‘एक तव ेक怐တ रोटတတ ᅜया छोटတတ ᅜया मोटတတ’’ जसैा
捳띲यवहार सीखना चाᘖᘏहए। रखेा耂ंकत लोकोिᅜत का अथ㨺┺ ⅴ읳प덳齳ट क怐တिजए।

耂कसी ꖐ馐कार का भदेभाव न करना

耂कसी ꖐ馐कार का भदेभाव करना

अपनी बात स ेपलटना

उपरोᅜत सभी

Correct Answer :­耂कसी ꖐ馐कार का भदेभाव न करना 

42)

Question Stimulus :­

का捳띲य के 耂कतन ेभदे होत ेह?ै

6

4

2

3

Correct Answer :­2 

43)

Question Stimulus :­

耂कस का捳띲य म⼁⼁ एक अनभुዠတत, एक भाव और एक हတတ क鍰걯पना का 耂च⣾ण रहता ह।ै

पा㡌⁌य मᅜत

मᅜतक का捳띲य

ꖐ馐बधं का捳띲य



इसम⼁⼁ स ेकोई नहတတं

Correct Answer :­मᅜतक का捳띲य 

44)

Question Stimulus :­

‘‘कामायनी’’ महाका捳띲य के लखेक कौन ह?ै

म耂लक मोह홭मद जायसी

जयशकंर ꖐ馐साद

तलुसीदास

स耂ुम⣾ानदंन पतं

Correct Answer :­जयशकंर ꖐ馐साद 

45)

Question Stimulus :­

महाका捳띲य म⼁⼁ कम स ेकम 耂कतन ेसग㨺┺ होन ेचाᘖᘏहय-े

8

10

12

15

Correct Answer :­8 

46)

Question Stimulus :­

薔熔गृारं रस के 耂कतन ेप⭒དྷ होत ेहထነ?

4

6

2

इनम⼁⼁ स ेकोई नहတတं



Correct Answer :­2 

47)

Question Stimulus :­

माधयु㨺┺ गणु का 耂कस रस म⼁⼁ ꖐ馐योग होता ह?ै

शा鹧鉧त

薔熔ृंगार

भयानक

रौ沏䮏

Correct Answer :­薔熔ृंगार 

48)

Question Stimulus :­

耂ꖐ馐य! मरेा ꖐ馐ाण 뵧ꩧयारा कहा ँह,ै

दखु जलዠတन耂ध म⼁⼁ डूबी का सहारा कहा ँह।ै

 

耂कस रस का उदाहरण ह?ै

शा鹧鉧त रस

क〰〰ण रस

रौ沏䮏 रस

薔熔ृंगार रस

Correct Answer :­क〰〰ण रस 

49)

Question Stimulus :­

अलकंार 耂कतन ेꖐ馐कार के होत ेहထነ?

4

8



10

3

Correct Answer :­3 

50)

Question Stimulus :­

का捳띲य म⼁⼁ जहा ँपर अꖐ馐ⅴ읳ततु कथन के ᐵᓹवारा ꖐ馐ⅴ읳ततु कथन बोध हो वहा ँकौन सा अलकंार होता ह?ै

वﾈ있ोिᅜत अलकंार

अ鹧鉧योिᅜत अलकंार

यमक अलकंार

अዠတतशयोिᅜत अलकंार

Correct Answer :­अ鹧鉧योिᅜत अलकंार 

51)

Question Stimulus :­

आय ेह ूमधमुास के 耂ꖐ馐यतम ऐह ैनाᘖᘏह।ं

आय ेह ूमधमुास के 耂ꖐ馐यतम ऐह ैनाᘖᘏह?ं

 

उपरोᅜत पिंᅜत म⼁⼁ कौन सा अलकंार ह?ै

अዠတतशयोिᅜत

अनꖐ馐ास

वﾈ있ोिᅜत

इनम⼁⼁ स ेकोई नहတတं

Correct Answer :­वﾈ있ोिᅜत 

52)

Question Stimulus :­

छ鹧鉧द के 耂कतन ेभदे होत ेहထነ?



8

4

12

2

Correct Answer :­2 

53)

Question Stimulus :­

ससंार क怐တ समर ⅴ읳थलတတ म⼁⼁ वीरता धारण करो।

चलत ेहएु ዠတनज इ덳齳ट पथ पर सकंटो स ेमत डरो।

 

उपरोᅜत पिंᅜत म⼁⼁ कौन सा छदं ह?ै

हတတरगीዠတतका

गीዠတतका

उ鍰걯लाला

रोला

Correct Answer :­हတတरगीዠတतका 

54)

Question Stimulus :­

“शा鹧鉧त譳睳चन वनाटस ेरसाः ⅴ읳मतृाः” कहकर नौव ेरस क怐တ शा鹧鉧त ꖐ馐ዠတतⅴ읳थापना 耂कसन ेक怐တ-

द꽤鱤डी

भानदु䥥ٿत

उ폋뻋भ頄

प耂ंडत राडा

Correct Answer :­उ폋뻋भ頄 

55)



Question Stimulus :­

“पीपरपात सर耂स मन डोला” पिंᅜत म⼁⼁ अलकंार ह-ै

〰〰पक

उपमा

譳睳लषे

अनꖐ馐ास

Correct Answer :­उपमा 

56)

Question Stimulus :­

कोई भी छदं 耂कसम⼁⼁ 耂वभᅜत रहता ह?ै

चरणो म⼁⼁

यዠတत म⼁⼁

दोन삠ጀ म⼁⼁

इनम⼁⼁ स ेकोई नहတတं

Correct Answer :­दोन삠ጀ म⼁⼁ 

57)

Question Stimulus :­

छदं शाⅴ읳⣾ म⼁⼁ दशा⭒དྷर 耂कस ेकहत ेह?ै

दश वण   के समहू को

आठ गण और दो ग〰〰लघु

ला और गा वण   को

इनम⼁⼁ स ेकोई नहတတं

Correct Answer :­ला और गा वण   को 

58)



Question Stimulus :­

छदं का सव㨺┺ꖐ馐थम उ鍰걯लखे कहॉ ं耂मलता ह?ै

ऋ湜幜वदे

यजवुဒद

सामवदे

अथव㨺┺वदे

Correct Answer :­ऋ湜幜वदे 

59)

Question Stimulus :­

एक थाल मोती स ेभरा, सबके 耂सर पर ओधंा धरा

चारो ओर वह थालတတ 耂फर,े मोती उसस ेएक न 耂गरे

माला

चादँ

आकाश

खते

Correct Answer :­आकाश 

60)

Question Stimulus :­

बजृ का परुाना अथ㨺┺ ह?ै

पशओु ंया गऊओ ंका समहू

मन덳齳य삠ጀ का समहू

प耂⭒དྷय삠ጀ का समहू

耂खला耂ड़य삠ጀ का समहू

Correct Answer :­पशओु ंया गऊओ ंका समहू 



61)

Question Stimulus :­

ዠတनदဒश :- नीच े耂लख ेगᐵᓹयाशं को पढ़कर ꖐ馐譳睳नो के उ䥥ٿतर दတတिजय-े

सौ鹧鉧दय㨺┺ क怐တ परख अनके ꖐ馐कार स ेक怐တ जाती ह।ै बा丹�य सौ鹧鉧दय㨺┺ क怐တ परख समझना तथा उसक怐တ अ耂भ捳띲यिᅜत करना सरल ह।ै
जब 〰〰प के साथ चတတर⣾ का भी ⅴ읳पश㨺┺ हो जाता ह ैतब उसम⼁⼁ रसाⅴ읳वादन क怐တ अनभुዠတत भी होती ह।ै एक वⅴ읳त ुस鹧鉧दर तथा
मनोहर कहတတ जा सकती ह,ै पर鹧鉧त ुस鹧鉧दर वⅴ읳त ुकेवल इि鹧鉧沏䮏य삠ጀ को सतं덳齳ट करती ह,ै जब耂क मनोरम वⅴ읳त ु耂च䥥ٿत को भी
आनि鹧鉧दत करती ह।ै इस ጃ̀ि덳齳ट स ेक耂व जय दवे का बसतं 耂च⣾ण स鹧鉧दर ह।ै ‘स鹧鉧दर‘ शᝫ㉪द सकं怐တण㨺┺ ह ैजब耂क मनोहर 捳띲यापक
तथा 耂वⅴ읳ततृ ह।ै साᘖᘏह䥥ٿय म⼁⼁ साधारण वⅴ읳त ु耂वशषे ꖐ馐तीत होती ह,ै तथा उस ेमनोहर कहत ेह।ै

ꖐ馐譳睳न:­ सौ鹧鉧दय㨺┺ क怐တ परख क怐တ जाती ह?ै

आन鹧鉧द क怐တ मा⣾ा के आधार पर

इि鹧鉧沏䮏य삠ጀ क怐တ सतंिु덳齳ट के आधार पर

〰〰प के आधार पर

मनोहरता के आधार पर

Correct Answer :­इि鹧鉧沏䮏य삠ጀ क怐တ सतंिु덳齳ट के आधार पर 

62)

Question Stimulus :­

ዠတनदဒश :- नीच े耂लख ेगᐵᓹयाशं को पढ़कर ꖐ馐譳睳नो के उ䥥ٿतर दတတिजय-े

सौ鹧鉧दय㨺┺ क怐တ परख अनके ꖐ馐कार स ेक怐တ जाती ह।ै बा丹�य सौ鹧鉧दय㨺┺ क怐တ परख समझना तथा उसक怐တ अ耂भ捳띲यिᅜत करना सरल ह।ै
जब 〰〰प के साथ चတတर⣾ का भी ⅴ읳पश㨺┺ हो जाता ह ैतब उसम⼁⼁ रसाⅴ읳वादन क怐တ अनभुዠတत भी होती ह।ै एक वⅴ읳त ुस鹧鉧दर तथा
मनोहर कहတတ जा सकती ह,ै पर鹧鉧त ुस鹧鉧दर वⅴ읳त ुकेवल इि鹧鉧沏䮏य삠ጀ को सतं덳齳ट करती ह,ै जब耂क मनोरम वⅴ읳त ु耂च䥥ٿत को भी
आनि鹧鉧दत करती ह।ै इस ጃ̀ि덳齳ट स ेक耂व जय दवे का बसतं 耂च⣾ण स鹧鉧दर ह।ै ‘स鹧鉧दर‘ शᝫ㉪द सकं怐တण㨺┺ ह ैजब耂क मनोहर 捳띲यापक
तथा 耂वⅴ읳ततृ ह।ै साᘖᘏह䥥ٿय म⼁⼁ साधारण वⅴ읳त ु耂वशषे ꖐ馐तीत होती ह,ै तथा उस ेमनोहर कहत ेह।ै

ꖐ馐譳睳न:­  रसाⅴ읳वादन क怐တ अनभुዠတत का बोध होता ह?ै

चတတर⣾ ⅴ읳पशᐚā 〰〰प से

耂च䥥ٿत के आन鹧鉧द से

सौ鹧鉧दय㨺┺ क怐တ अ耂भ捳띲यिᅜत से

इि鹧鉧沏䮏य सखु मा⣾ से



Correct Answer :­चတတर⣾ ⅴ읳पशᐚā 〰〰प स े

63)

Question Stimulus :­

ዠတनदဒश :- नीच े耂लख ेगᐵᓹयाशं को पढ़कर ꖐ馐譳睳नो के उ䥥ٿतर दတတिजय-े

सौ鹧鉧दय㨺┺ क怐တ परख अनके ꖐ馐कार स ेक怐တ जाती ह।ै बा丹�य सौ鹧鉧दय㨺┺ क怐တ परख समझना तथा उसक怐တ अ耂भ捳띲यिᅜत करना सरल ह।ै
जब 〰〰प के साथ चတတर⣾ का भी ⅴ읳पश㨺┺ हो जाता ह ैतब उसम⼁⼁ रसाⅴ읳वादन क怐တ अनभुዠတत भी होती ह।ै एक वⅴ읳त ुस鹧鉧दर तथा
मनोहर कहတတ जा सकती ह,ै पर鹧鉧त ुस鹧鉧दर वⅴ읳त ुकेवल इि鹧鉧沏䮏य삠ጀ को सतं덳齳ट करती ह,ै जब耂क मनोरम वⅴ읳त ु耂च䥥ٿत को भी
आनि鹧鉧दत करती ह।ै इस ጃ̀ि덳齳ट स ेक耂व जय दवे का बसतं 耂च⣾ण स鹧鉧दर ह।ै ‘स鹧鉧दर‘ शᝫ㉪द सकं怐တण㨺┺ ह ैजब耂क मनोहर 捳띲यापक
तथा 耂वⅴ읳ततृ ह।ै साᘖᘏह䥥ٿय म⼁⼁ साधारण वⅴ읳त ु耂वशषे ꖐ馐तीत होती ह,ै तथा उस ेमनोहर कहत ेह।ै

ꖐ馐譳睳न:­ गᐵᓹयाशं का उपयᅜत शीष㨺┺क ह?ै

साᘖᘏह䥥ٿय और सौ鹧鉧दय㨺┺

अ耂भ捳띲यिᅜत क怐တ अनभुዠတत

स鹧鉧दरता बनाम मनोहरता

स鹧鉧दरता क怐တ सकं怐တण㨺┺ता

Correct Answer :­स鹧鉧दरता बनाम मनोहरता 

64)

Question Stimulus :­

ዠတनदဒश :- नीच े耂लख ेगᐵᓹयाशं को पढ़कर ꖐ馐譳睳नो के उ䥥ٿतर दတတिजय-े

सौ鹧鉧दय㨺┺ क怐တ परख अनके ꖐ馐कार स ेक怐တ जाती ह।ै बा丹�य सौ鹧鉧दय㨺┺ क怐တ परख समझना तथा उसक怐တ अ耂भ捳띲यिᅜत करना सरल ह।ै
जब 〰〰प के साथ चတတर⣾ का भी ⅴ읳पश㨺┺ हो जाता ह ैतब उसम⼁⼁ रसाⅴ읳वादन क怐တ अनभुዠတत भी होती ह।ै एक वⅴ읳त ुस鹧鉧दर तथा
मनोहर कहတတ जा सकती ह,ै पर鹧鉧त ुस鹧鉧दर वⅴ읳त ुकेवल इि鹧鉧沏䮏य삠ጀ को सतं덳齳ट करती ह,ै जब耂क मनोरम वⅴ읳त ु耂च䥥ٿत को भी
आनि鹧鉧दत करती ह।ै इस ጃ̀ि덳齳ट स ेक耂व जय दवे का बसतं 耂च⣾ण स鹧鉧दर ह।ै ‘स鹧鉧दर‘ शᝫ㉪द सकं怐တण㨺┺ ह ैजब耂क मनोहर 捳띲यापक
तथा 耂वⅴ읳ततृ ह।ै साᘖᘏह䥥ٿय म⼁⼁ साधारण वⅴ읳त ु耂वशषे ꖐ馐तीत होती ह,ै तथा उस ेमनोहर कहत ेह।ै

ꖐ馐譳睳न:­ मनोहर का सि鹧鉧ध 耂वسحجछदे ह?ै

मनो + हर

मनः + हर

मनो + अहर



मन + हर

Correct Answer :­मनः + हर 

65)

Question Stimulus :­

ዠတनदဒश :- नीच े耂लख ेगᐵᓹयाशं को पढ़कर ꖐ馐譳睳नो के उ䥥ٿतर दတတिजय-े

सौ鹧鉧दय㨺┺ क怐တ परख अनके ꖐ馐कार स ेक怐တ जाती ह।ै बा丹�य सौ鹧鉧दय㨺┺ क怐တ परख समझना तथा उसक怐တ अ耂भ捳띲यिᅜत करना सरल ह।ै
जब 〰〰प के साथ चတတर⣾ का भी ⅴ읳पश㨺┺ हो जाता ह ैतब उसम⼁⼁ रसाⅴ읳वादन क怐တ अनभुዠတत भी होती ह।ै एक वⅴ읳त ुस鹧鉧दर तथा
मनोहर कहတတ जा सकती ह,ै पर鹧鉧त ुस鹧鉧दर वⅴ읳त ुकेवल इि鹧鉧沏䮏य삠ጀ को सतं덳齳ट करती ह,ै जब耂क मनोरम वⅴ읳त ु耂च䥥ٿत को भी
आनि鹧鉧दत करती ह।ै इस ጃ̀ि덳齳ट स ेक耂व जय दवे का बसतं 耂च⣾ण स鹧鉧दर ह।ै ‘स鹧鉧दर‘ शᝫ㉪द सकं怐တण㨺┺ ह ैजब耂क मनोहर 捳띲यापक
तथा 耂वⅴ읳ततृ ह।ै साᘖᘏह䥥ٿय म⼁⼁ साधारण वⅴ읳त ु耂वशषे ꖐ馐तीत होती ह,ै तथा उस ेमनोहर कहत ेह।ै

ꖐ馐譳睳न:­ क耂व जय दवे का बसतं 耂च⣾ण स鹧鉧दर ह,ै पर मनोहर नहတတ,ं ᅜय삠ጀ耂क?

यह इि鹧鉧沏䮏य सखु दायक ह।ै

इसम⼁⼁ अनभुዠတत नहတတ हထነ।

इसम ेकेवल सौ鹧鉧दय㨺┺ वण㨺┺न ह।ै

यह 耂च䥥ٿत को आि鹧鉧鹧鉧दत नहတတ ंकरता

Correct Answer :­यह 耂च䥥ٿत को आि鹧鉧鹧鉧दत नहတတ ंकरता 

66)

Question Stimulus :­

ዠတनदဒश :­ अपᘖᘏठत पᐵᓹयाशं

 

सकंटो स ेवीर घबरात ेनहတတ, आपदाय⼁⼁ दखे ዠတछप जात ेनहတတ।ं

लग गए िजस काम म⼁⼁, परूा 耂कया, काम करके 捳띲यथ㨺┺ पछतात ेनहတတ।ं

हो सरल अथवा कᘖᘏठन हो राⅴ읳ता, कम㨺┺वीर삠ጀ को न इस स ेवाⅴ읳ता।

बढ़ चल ेतो अतं तक हတတ बढ़ चल,े कᘖᘏठनतर 耂गတတर薔熔ृंग ऊपर चढ़ चल।े

कᘖᘏठन पथ को दखे मⅴ읳कात ेसदा, सकंट के बीच व ेगात ेसदा।



ह ैअसभंव कुछ नहတတ उनके 耂लय,े सरल­सभंव कर ᘖᘏदखात ेव ेसदा।

यह असभंव कायर삠ጀ का शᝫ㉪द ह,ै कहा था नपेो耂लयन न ेएक ᘖᘏदन।

सच बताऊँ, िजदंगी हတတ 捳띲यथ㨺┺ ह,ै दप㨺┺ 䰁ఁबन, उ䥥ٿसाह 䰁ఁबन, औ शिᅜत 䰁ఁबन।

 

ꖐ馐譳睳न:­ वीर 捳띲यिᅜत क怐တ ꖐ馐मखु 耂वशषेता ᅜया ह?ै

सकंट स ेन घबराना

आग ेबढ़त ेजाना

असभंव को सभंव कर ᘖᘏदखाना

कᘖᘏठन राⅴ읳त ेको पार करना

Correct Answer :­असभंव को सभंव कर ᘖᘏदखाना 

67)

Question Stimulus :­

ዠတनदဒश :­ अपᘖᘏठत पᐵᓹयाशं

 

सकंटो स ेवीर घबरात ेनहတတ, आपदाय⼁⼁ दखे ዠတछप जात ेनहတတ।ं

लग गए िजस काम म⼁⼁, परूा 耂कया, काम करके 捳띲यथ㨺┺ पछतात ेनहတတ।ं

हो सरल अथवा कᘖᘏठन हो राⅴ읳ता, कम㨺┺वीर삠ጀ को न इस स ेवाⅴ읳ता।

बढ़ चल ेतो अतं तक हတတ बढ़ चल,े कᘖᘏठनतर 耂गတတर薔熔ृंग ऊपर चढ़ चल।े

कᘖᘏठन पथ को दखे मⅴ읳कात ेसदा, सकंट के बीच व ेगात ेसदा।

ह ैअसभंव कुछ नहတတ उनके 耂लय,े सरल­सभंव कर ᘖᘏदखात ेव ेसदा।

यह असभंव कायर삠ጀ का शᝫ㉪द ह,ै कहा था नपेो耂लयन न ेएक ᘖᘏदन।

सच बताऊँ, िजदंगी हတတ 捳띲यथ㨺┺ ह,ै दप㨺┺ 䰁ఁबन, उ䥥ٿसाह 䰁ఁबन, औ शिᅜत 䰁ఁबन।



 

ꖐ馐譳睳न:­ उपय㨺ु┺ᅜत पᐵᓹयाशं म⼁⼁ ‘दप㨺┺‘ शᝫ㉪द का ᅜया अथ㨺┺ ह?ै

घमडं

ⅴ읳वा耂भमान

अ耂भमान

अहकंार

Correct Answer :­अ耂भमान 

68)

Question Stimulus :­

ዠတनदဒश :­ अपᘖᘏठत पᐵᓹयाशं

 

सकंटो स ेवीर घबरात ेनहတတ, आपदाय⼁⼁ दखे ዠတछप जात ेनहတတ।ं

लग गए िजस काम म⼁⼁, परूा 耂कया, काम करके 捳띲यथ㨺┺ पछतात ेनहတတ।ं

हो सरल अथवा कᘖᘏठन हो राⅴ읳ता, कम㨺┺वीर삠ጀ को न इस स ेवाⅴ읳ता।

बढ़ चल ेतो अतं तक हတတ बढ़ चल,े कᘖᘏठनतर 耂गတတर薔熔ृंग ऊपर चढ़ चल।े

कᘖᘏठन पथ को दखे मⅴ읳कात ेसदा, सकंट के बीच व ेगात ेसदा।

ह ैअसभंव कुछ नहတတ उनके 耂लय,े सरल­सभंव कर ᘖᘏदखात ेव ेसदा।

यह असभंव कायर삠ጀ का शᝫ㉪द ह,ै कहा था नपेो耂लयन न ेएक ᘖᘏदन।

सच बताऊँ, िजदंगी हတတ 捳띲यथ㨺┺ ह,ै दप㨺┺ 䰁ఁबन, उ䥥ٿसाह 䰁ఁबन, औ शिᅜत 䰁ఁबन।

 

ꖐ馐譳睳न:­ उपय㨺ु┺ᅜत पᐵᓹयाशं का उपय㨺ु┺ᅜत शीष㨺┺क बताइए­

असभंव

कम㨺┺वीर



सकंटो के बीच

सभंव

Correct Answer :­कम㨺┺वीर 

69)

Question Stimulus :­

ዠတनदဒश :­ अपᘖᘏठत पᐵᓹयाशं

 

सकंटो स ेवीर घबरात ेनहတတ, आपदाय⼁⼁ दखे ዠတछप जात ेनहတတ।ं

लग गए िजस काम म⼁⼁, परूा 耂कया, काम करके 捳띲यथ㨺┺ पछतात ेनहတတ।ं

हो सरल अथवा कᘖᘏठन हो राⅴ읳ता, कम㨺┺वीर삠ጀ को न इस स ेवाⅴ읳ता।

बढ़ चल ेतो अतं तक हတတ बढ़ चल,े कᘖᘏठनतर 耂गတတर薔熔ृंग ऊपर चढ़ चल।े

कᘖᘏठन पथ को दखे मⅴ읳कात ेसदा, सकंट के बीच व ेगात ेसदा।

ह ैअसभंव कुछ नहတတ उनके 耂लय,े सरल­सभंव कर ᘖᘏदखात ेव ेसदा।

यह असभंव कायर삠ጀ का शᝫ㉪द ह,ै कहा था नपेो耂लयन न ेएक ᘖᘏदन।

सच बताऊँ, िजदंगी हတတ 捳띲यथ㨺┺ ह,ै दप㨺┺ 䰁ఁबन, उ䥥ٿसाह 䰁ఁबन, औ शिᅜत 䰁ఁबन।

 

ꖐ馐譳睳न:­ क耂व के अनसुार िजदंगी ዠတन홭न म⼁⼁ स े耂कसके 䰁ఁबना 捳띲यथ㨺┺ हထነ ?

ⅴ읳व뵧ꩧन 

उ䥥ٿसाह

कम㨺┺ 

उपरोᅜत सभी 

Correct Answer :­उ䥥ٿसाह 



70)

Question Stimulus :­

ዠတनदဒश :­ अपᘖᘏठत पᐵᓹयाशं

 

सकंटो स ेवीर घबरात ेनहတတ, आपदाय⼁⼁ दखे ዠတछप जात ेनहတတ।ं

लग गए िजस काम म⼁⼁, परूा 耂कया, काम करके 捳띲यथ㨺┺ पछतात ेनहတတ।ं

हो सरल अथवा कᘖᘏठन हो राⅴ읳ता, कम㨺┺वीर삠ጀ को न इस स ेवाⅴ읳ता।

बढ़ चल ेतो अतं तक हတတ बढ़ चल,े कᘖᘏठनतर 耂गတတर薔熔ृंग ऊपर चढ़ चल।े

कᘖᘏठन पथ को दखे मⅴ읳कात ेसदा, सकंट के बीच व ेगात ेसदा।

ह ैअसभंव कुछ नहတတ उनके 耂लय,े सरल­सभंव कर ᘖᘏदखात ेव ेसदा।

यह असभंव कायर삠ጀ का शᝫ㉪द ह,ै कहा था नपेो耂लयन न ेएक ᘖᘏदन।

सच बताऊँ, िजदंगी हတတ 捳띲यथ㨺┺ ह,ै दप㨺┺ 䰁ఁबन, उ䥥ٿसाह 䰁ఁबन, औ शिᅜत 䰁ఁबन।

 

譳睳न:­ ‘कायर’ शᝫ㉪द 耂कसका 耂वलोम ह ै?

डरा हआु 

ዠတनडर 

भयभीत 

इनम⼁⼁ स ेकोई नहတတ

Correct Answer :­ዠတनडर  

Topic:­ General Knowledge
1)

Question Stimulus :­

Which is the first network to implement TCP/IP? / इनम ेस ेकौन टတတसीपी / आईपी
लाग ूकरन ेवाला पहला नटेवक㨺┺ ह?ै



INTERNET / इटंरनटे

LAN / लने

ARPANET / अरपानटे

INTRANET / इꦍं邍ानटे

Correct Answer :­ARPANET / अरपानटे 

2)

Question Stimulus :­

Which one of the following is not a web browser? / ዠတन홭न耂ल耂खत म⼁⼁ स ेकौन सा एक
वबे 䆑풐ाउज़र नहတတ ंह?ै

Opera / ओपरेा

Mosaic / मौज़के

Netscape / नटेⅴ읳केप

None of the above / इनम ेस ेकोई भी नहတတं

Correct Answer :­None of the above / इनम ेस ेकोई भी नहတတ ं

3)

Question Stimulus :­

Passwords are? / पासवड㨺┺ ᅜया ह?ै

Case sensitive / केस स⼁⼁耂सᘖᘏटव

Soft links / सॉ䕩歨ट 耂लᅜस

Dynamic / डायना耂मक

All of the above / ऊपर के सभी

Correct Answer :­Case sensitive / केस स⼁⼁耂सᘖᘏटव 

4)

Question Stimulus :­



How many layers are there in an OSI Model? / एक OSI मॉडल म⼁⼁ 耂कतनी परत⼁⼁ होते
हထነ?

5

7

6

9

Correct Answer :­7 

5)

Question Stimulus :­

Matki dance is mostly performed in? /मटक怐တ न䥥ٿय को 䝝㝝यादातर ­­­­­­ म⼁⼁ 耂कया जाता ह?ै

Malwa region of Madhya Pradesh/ म婦य ꖐ馐दशे के मालवा ⭒དྷ⣾

Gwalior region of Madhya Pradesh/ म婦य ꖐ馐दशे के 湜幜वा耂लयर ⭒དྷ⣾

Jabalpur region of Madhya Pradesh/ म婦य ꖐ馐दशे के जबलपरु ⭒དྷ⣾

None of these/ इनम⼁⼁ स ेकोई नहတတ।ं

Correct Answer :­Malwa region of Madhya Pradesh/ म婦य ꖐ馐दशे के मालवा ⭒དྷ⣾ 

6)

Question Stimulus :­

Which department is known as Nodel department for the implementation
of “Mukhya Mantri Yuva Engineer Contractor Yojana”?/ म乜⭜यम⣾ी यवुा इजंीዠတनयर
काꦍ邍ᅜेटर योजना" के काया㨺┺鹧鉧वयन के 耂लए कौन स े耂वभाग को नोडल [ꖐ馐मखु] 耂वभाग के 〰〰प म⼁⼁ जाना जाता ह?ै

Water resources department/ जल ससंाधन 耂वभाग

Public work department/ लोक ዠတनमा㨺┺ण 耂वभाग

Mukhyamantri yuva department/ म乜⭜यम⣾ी यवुा 耂वभाग

None of these/ इनम⼁⼁ स ेकोई नहတတ।ं

Correct Answer :­Public work department/ लोक ዠတनमा㨺┺ण 耂वभाग 



7)

Question Stimulus :­

According to “Atal Jyoti Abhiyan” for how much time electricity will be
provided in rural areas? /"अटल 䝝㝝योዠတत अ耂भयान" के अनसुार, 䢊ामीण ⭒དྷ⣾삠ጀ म⼁⼁ 耂कतन ेसमय के
耂लए 䰁ఁबजलတတ ꖐ馐दान क怐တ जाएगी?

Minimum 10 hours/ 鹧鉧यनूतम 10 घटंे

Minimum 12 hours/ 鹧鉧यनूतम 12 घटंे

Maximum 15 hours/ अ耂धकतम 15 घटंे

Maximum 10 hours/ अ耂धकतम 10 घटंे

Correct Answer :­Minimum 10 hours/ 鹧鉧यनूतम 10 घटं े

8)

Question Stimulus :­

How many cities are included from Madhya Pradesh in 98 smart cities
announced by union government? / क⼁⼁沏䮏 सरकार ᐵᓹवारा घो耂षत 98 ⅴ읳माट㨺┺ शहर삠ጀ म⼁⼁ म婦य ꖐ馐दशे
स े耂कतन ेशहर शा耂मल 耂कए गए हထነ?

10

12

7

3

Correct Answer :­7 

9)

Question Stimulus :­

In which of the following area of the Madhya Pradesh Satpura Range is not
present? /म婦य ꖐ馐दशे के ዠတन홭न म⼁⼁ स े耂कस ꖐ馐दशे ⭒དྷ⣾ म⼁⼁ सतपड़ुा 薔熔ृंखला मौजदू नहတတ ंह?ै

Khandwa/ खडंवा

Betul/ बतैलू

Harda/हरदा



Chindwada/ ዠတछदंवाड़ा

Correct Answer :­Harda/हरदा 

10)

Question Stimulus :­

Which of the following prime minister of India was born in Madhya
Pradesh? / ዠတन홭न म⼁⼁ स े耂कस ꖐ馐धानम⣾ी का ज鹧鉧म म婦यꖐ馐दशे म⼁⼁ हआु?

Morarji Desai/ मोरारजी दसेाई

Charan Singh/ चरण 耂सहं

Atal Bihari Bajpayee/ अटल 䰁ఁबहारတတ बाजपयेी

Inder kumar Gujral/ इ沏ं䮏 कुमार गजुराल

Correct Answer :­Atal Bihari Bajpayee/ अटल 䰁ఁबहारတတ बाजपयेी 

11)

Question Stimulus :­

In which district of Madhya Pradesh is the industry of traction alternators
for diesel engines proposed? / म婦य ꖐ馐दशे के 耂कस िजल ेम⼁⼁ डीजल इजंन के 耂लए सकंष㨺┺ण
[ꦍ邍ᅜैशन] आ鍰걯टरनटेर उᐵᓹयोग ꖐ馐ⅴ읳ता耂वत 耂कया गया ह?ै

Satna/ सतना

Gwalior/ 湜幜वा耂लयर

Vidisha/ 耂वᘖᘏदशा

Bhopal/ भोपाल

Correct Answer :­Vidisha/ 耂वᘖᘏदशा 

12)

Question Stimulus :­

The Ancient city of Madhya Pradesh “Daspur” is now famous as? / म婦य ꖐ馐दशे
का ꖐ馐ाचीन शहर "दसपरु" अब 耂कस नाम स ेजाना जाता ह?ै?



Bhopal/ भोपाल

Jhabua/ झाबआु

Vidisha/ 耂वᘖᘏदशा

Mandsaur/ मदंसौर

Correct Answer :­Mandsaur/ मदंसौर 

13)

Question Stimulus :­

In which district of Madhya Pradesh is one of  the regional laboratories of forest research institute,
Dehradun located? / म婦य ꖐ馐दशे के 耂कस िजल ेम⼁⼁,  वन अनसुधंान सⅴ읳थान, दहेरादनू क怐တ ⭒དྷ⣾ीय ꖐ馐योगशालाओं
म⼁⼁ स ेएक िⅴ읳थत ह?ै

Betul/ बतैलू

Jabalpur/ जबलपरु

Indore/ इदंौर

Mandla/ मडंला

Correct Answer :­Jabalpur/ जबलपरु 

14)

Question Stimulus :­

Approximately what percentage of the country’s total manganese is
extracted in Madhya Pradesh? / दशे क怐တ कुल मထነगनीज़ क怐တ लगभग 耂कतनी ꖐ馐ዠတतशत को म婦य
ꖐ馐दशे म⼁⼁ ዠတनकाला जाता ह?ै

70%

20%

50%

80%

Correct Answer :­50% 

15)



Question Stimulus :­

Which poet is regarded at the first poet of the ‘Riti’ period of Hindi poetry?
/कौन स ेक耂व को ᘖᘏह鹧鉧दတတ क耂वता क怐တ 'रတတዠတत' अव耂ध के पहल ेक耂व के 〰〰प म⼁⼁ माना जाता ह?ै

Padmakar/ प⛍෍ाकर

Keshav Das/ केशव दास

Bhushan/ भषूण

Ghananand / घनानदं  

Correct Answer :­Keshav Das/ केशव दास 

16)

Question Stimulus :­

In which district of Madhya Pradesh percentage of the gross irrigated area
to the gross sown area the smallest? / म婦य ꖐ馐दशे के 耂कस िजल ेम⼁⼁ सकल बवुाई ⭒དྷ⣾ के ꖐ馐ዠတत
सकल 耂स耂ंचत ⭒དྷ⣾ का ꖐ馐ዠတतशत सबस ेकम ह?ै

Sidhi/ सीधी

Shahdol/ शहडोल

Dindori/ 耂डडंोरတတ

Mandla/ मडंला

Correct Answer :­Sidhi/ सीधी 

17)

Question Stimulus :­

When was the ‘Pani Roko Abhiyan” started in Madhya Pradesh? / म婦य ꖐ馐दशे
म⼁⼁ 'पानी रोको अ耂भयान' कब श〰〰 耂कया गया था?

3rd February 2001/3 फ़रवरတတ 2001

2nd December 2000/2 ᘖᘏदस홭बर 2000

7th May 2001/7 मई 2001



None of these/ इनम⼁⼁ स ेकोई नहတတ।ं

Correct Answer :­7th May 2001/7 मई 2001 

18)

Question Stimulus :­

One out of the following dynasties does not belong to Madhya Pradesh? /
ዠတन홭न耂ल耂खत राजवशं삠ጀ म⼁⼁ स ेएक, म婦य ꖐ馐दशे स ेसबं耂ंधत नहတတ ंह?ै

Parmar/ परमार

Kaichuri/ कायचरुတတ

Chandela/ चदंलेा

Pratihar/ ꖐ馐ዠတतहार

Correct Answer :­Pratihar/ ꖐ馐ዠတतहार 

19)

Question Stimulus :­

Where is the Hasedo­Bango project located? / हसदेो­बागंो पတတरयोजना कहा ँिⅴ읳थत ह?ै

Madhya Pradesh/ म婦य ꖐ馐दशे

Assam/ असम

Kerala/ केरल

Chatishgarh/ छ䥥ٿतीसगढ़

Correct Answer :­Chatishgarh/ छ䥥ٿतीसगढ़ 

20)

Question Stimulus :­

During Harappan civilizations finding, remains of horse bones have been found from? / हड़뵧ꩧपा
स੬यताओ ंक怐တ खोज के दौरान 耂कस ⅴ읳थान पर घोड़ ेक怐တ ह㼥㠯耂डय삠ጀ के अवशषे पाय ेगए हထነ?

Lothal /लोथल

Surkotada / सरुकोटाडा



Kalibangan /कालတတबगंा

Dholavira /धोलावीरा

Correct Answer :­

Surkotada / सरुकोटाडा 

21)

Question Stimulus :­

Assertion : Vedas are also known as Shrutt / अ耂भकथन: वदे삠ጀ को 薔熔䥥ٿत के 〰〰प म⼁⼁ भी जाना जाता है

Reason : Vedas have been passed from one generation to another through verbal transmission / 
कारण: वदे삠ጀ को एक पीढ़တတ स ेदसूरတတ को मौ耂खक ꖐ馐सारण के मा婦यम स ेआग ेबढ़ाया गया है

Assertion is correct, reason is incorrect / अ耂भकथन सहတတ ह,ै कारण गलत है

Assertion Is incorrect, reason is correct / अ耂भकथन गलत ह,ै कारण सहတတ है

Assertion and reason both are correct / अ耂भकथन और कारण दोन삠ጀ सहတတ हထነ

Assertion and reason both are incorrect / अ耂भकथन और कारण दोन삠ጀ गलत हထነ

Correct Answer :­

Assertion and reason both are correct / अ耂भकथन और कारण दोन삠ጀ सहတတ हထነ 

22)

Question Stimulus :­

Which Greek King issued bilingual coins ? / कौन स े䢊ीक राजा न ेᐵᓹ耂वभाषी 耂सᅜके जारတတ 耂कए थ?े 

Alexander /अलᅜेज⼁⼁डर

Demetrivs/ डमेᘖेᘏꦍ邍वस

Manander /मानडंरे

Dizus /耂डज़सु

Correct Answer :­

Demetrivs/ डमेᘖेᘏꦍ邍वस 



23)

Question Stimulus :­

Who built the ‘Alai Darwaza’? / 'अलाई दरवाजा' 耂कसन ेबनवाया था?

Tughlaq /ग़यास폋뻋ीन तगुलक

Firoz ShahTughlaq / 耂फरोज शाह तगुलक

Alauddin Khilji / अलाउ폋뻋ीन 耂खलजी

Bin Tughlaq / मो. 䰁ఁबन तगुलक

Correct Answer :­

Alauddin Khilji / अलाउ폋뻋ीन 耂खलजी 

24)

Question Stimulus :­

The "Planetoids OR Small solar Bodies" are located between which among
the following Planets? / "⭒དྷ沏䮏 䢊ह या छोट ेसौर ዠတनकाय" 耂कन ዠတन홭न 䢊ह삠ጀ के बीच िⅴ읳थत ह?ै

Mars and Jupiter / मगंल और बहृⅴ읳पዠတत

Saturn and Jupiter / शዠတन और बहृⅴ읳पዠတत

Earth and Venus / पⅦ๦वी और शﾈ있

Earth and Mars / पⅦ๦वी और मगंल

Correct Answer :­Mars and Jupiter / मगंल और बहृⅴ읳पዠတत 

25)

Question Stimulus :­

A cataclysmic nuclear explosion caused by the accretion of hydrogen onto the surface of a white
dwarf star, would be termed as ___? / एक सफेद बौन ेतार ेक怐တ सतह पर हाइ邎綎ोजन क怐တ अ耂भव耂ृ﷋ क怐တ वजह से
एक परमाण ु耂वⅴ읳फोट के होन ेको ___ कहा जाता ह?ै

Nova / नोवा



Nebula / नबेलुा

Red giant / रडे जायटं

Pulsar / प鍰걯सर

Correct Answer :­Nova / नोवा 

26)

Question Stimulus :­

In a black hole________? / एक ᝫ㉪लकै होल म⼁⼁ ________ ?

All wavelengths of light are absorbed / ꖐ馐काश के सभी तरगं दै婦य㨺┺ अवशो耂षत हो रह ेहထነ

All wavelengths of light are absorbed except green and blue / ꖐ馐काश के सभी तरगं दै婦य㨺┺ हर ेऔर
नील ेरगं को छोड़कर अवशो耂षत कर रह ेहထነ

All wavelengths of light are absorbed except blue and red / ꖐ馐काश के सभी तरगं दै婦य㨺┺ नीले
और लाल रगं को छोड़कर अवशो耂षत कर रह ेहထነ

All wavelengths of light are absorbed except red & green / ꖐ馐काश के सभी तरगं दै婦य㨺┺ लाल
और हर ेरगं को छोड़कर अवशो耂षत कर रह ेहထነ

Correct Answer :­All wavelengths of light are absorbed / ꖐ馐काश के सभी तरगं दै婦य㨺┺ अवशो耂षत हो रहे
हထነ 

27)

Question Stimulus :­

Skin works as a respiratory organ in which of the following Animals? / 䥥ٿवचा
एक 譳睳वसन अगं के 〰〰प म⼁⼁ ዠတन홭न स ेकौन स ेजानवर म⼁⼁ काम करती ह?ै

Cockroach / ዠတतलच頄ा

Frog / मढेक

Whale / 捳띲हले

Dog Fish / कु䥥ٿता मछलတတ

Correct Answer :­Frog / मढेक 



28)

Question Stimulus :­

In the Federation established by the Act 1935, residuary powers were
given to the? / अ耂धዠတनयम 1935 ᐵᓹवारा ⅴ읳था耂पत सघं म⼁⼁ ,अव耂श덳齳ट शिᅜतया ं耂कस ेꖐ馐दान क怐တ गई थी?

Federal Courts / सघंीय 鹧鉧यायालय

Provincial Legislature / ꖐ馐ातंीय 耂वधाዠတयका

Governor General / गवन㨺┺र जनरल

Provincial Governors / ꖐ馐ातंीय गवन㨺┺र

Correct Answer :­Governor General / गवन㨺┺र जनरल 

29)

Question Stimulus :­

Who was the first chairman of the Constituent Assembly? / स耂ंवधान सभा का
पहला अ婦य⭒དྷ कौन था?

B.R. Ambedkar / बी.आर. अ홭बडेकर

Dr Sacchidanand Sinha / डॉ सिسحجचदानदं 耂स鹧鉧हा

Dr. Rajendra Prasad / डॉ राज鹧े鉧沏䮏 ꖐ馐साद

Jawaharlal Nehru / जवाहर लाल नहे〰〰

Correct Answer :­Dr Sacchidanand Sinha / डॉ सिسحجचदानदं 耂स鹧鉧हा 

30)

Question Stimulus :­

Which of the Act Introduced Dyarchy in the provinces? / 耂कस अ耂धዠတनयम स ेꖐ馐ातं삠ጀ
म⼁⼁ ﷋धै शासन श〰〰 हआु?

Government of India Act 1861/ भारत सरकार अ耂धዠတनयम1861 

Government of India Act 1919/ भारत सरकार अ耂धዠတनयम1919 

Indian Council Act 1861/ भारतीय पတတरषद अ耂धዠတनयम1861 



Indian Council Act 1862/ भारतीय पတတरषद अ耂धዠတनयम1862 

Correct Answer :­Government of India Act 1919/ भारत सरकार अ耂धዠတनयम1919  

31)

Question Stimulus :­

The sequence in which the given terms are mentioned in the preamble to
the Constitution of India is? / भारतीय स耂ंवधान क怐တ ꖐ馐ⅴ읳तावना म⼁⼁ ዠတन홭न शᝫ㉪द삠ጀ का उ鍰걯लखे 耂कस
अनﾈ있म म⼁⼁ 耂कया गया ह?ै

Sovereign, Socialist, Secular, Democratic, Republic / सꖐ馐भ ु,समाजवादတတ ,धम㨺┺ዠတनरप⭒ेདྷ ,लोकता䰁ఁ⣾क,

गणरा䝝㝝य

Socialist, Secular, Sovereign, Democratic, Republic / समाजवादတတ ,धम㨺┺ዠတनरप⭒ेདྷ ,सꖐ馐भ ु,लोकता䰁ఁ⣾क,
गणरा䝝㝝य

Secular, Socialist, Sovereign, Democratic, Republic / धम㨺┺ዠတनरप⭒ेདྷ ,समाजवादတတ ,सꖐ馐भ ु,लोकता䰁ఁ⣾क,

गणरा䝝㝝य

Sovereign, Democratic, Socialist, Secular, Republic / सꖐ馐भ ु,लोकता䰁ఁ⣾क ,समाजवादတတ ,धम㨺┺ዠတनरप⭒ेདྷ,

गणरा䝝㝝य

Correct Answer :­Sovereign, Socialist, Secular, Democratic, Republic / सꖐ馐भ ु,समाजवादတတ,
धम㨺┺ዠတनरप⭒ेདྷ ,लोकता䰁ఁ⣾क ,गणरा䝝㝝य 

32)

Question Stimulus :­

Which among the following is the longest day in India and all northern
hemisphere? / भारत म⼁⼁ और परू ेउ䥥ٿतरတတ गोला﷋㨺┺ म⼁⼁ ዠတन홭न耂ल耂खत म⼁⼁ स ेकौन सा सबस ेलबंा ᘖᘏदन ह?ै

June 21/ 21 जनू

March 21/ 21  माच㨺┺

September 21/ 21 耂सतबंर

May 31/ 31 मई

Correct Answer :­June 21/ 21 जनू 

33)



Question Stimulus :­

In a certain code language, MONDAY is coded as OQPFCA. How can
ENERGY be coded as? / 耂कसी 耂वशषे कूट भाषा म⼁⼁ MONDAY का कूट OQPFCA ह ैतो
ENERGY का कूट ᅜया होगा?

GPGTIA

FPFTIA

GOGTJA

GPGSHZ

Correct Answer :­GPGTIA 

34)

Question Stimulus :­

Which among the following is famous for “Elephant"? / ዠတन홭न耂ल耂खत म⼁⼁ स ेकौन सा "हाथी" के 耂लए
ꖐ馐耂स﷋ ह?ै

Bandhavgarh national park / बाधंवगढ़ रा덳齳ꦍ邍တတय उᐵᓹयान

Sanjay Gandhi national park / सजंय गाधंी रा덳齳ꦍ邍တတय उᐵᓹयान

Periyar national park / पတेတरयार रा덳齳ꦍ邍တတय उᐵᓹयान

Gir national park / 耂गर रा덳齳ꦍ邍တတय उᐵᓹयान

Correct Answer :­Periyar national park / पတेတरयार रा덳齳ꦍ邍တတय उᐵᓹयान 

35)

Question Stimulus :­

Which among the following is the highest peak eastern ghat? / ዠတन홭न耂ल耂खत म⼁⼁ स ेकौन सा पवूᐚā घाट क怐တ
सबस ेऊची चोटတတ ह?ै

Mount Abu / माउंट आबू

Mount Anamalai / माउंट अनामलाई

Dhupgarh / धपूगढ़

Mahendragiri / मह⼁⼁沏䮏耂गတတर



Correct Answer :­Mahendragiri / मह⼁⼁沏䮏耂गတတर 

36)

Question Stimulus :­

In a certain code language, GATE is written as 3*4@ and ROAD is written
as $2*5. How will DEAR be written in the same code? / 耂कसी 耂वशषे कूट भाषा म⼁⼁,
GATE को 3*4@ 耂लखा गया ह ैऔर ROAD को $2*5 耂लखा गया ह,ै तो DEAR को उसी कूट म⼁⼁
कैस े耂लख⼁⼁ग?े

54*$

5*@$

5@*$

$*@5

Correct Answer :­5@*$ 

37)

Question Stimulus :­

According to Indian constitution the age for retirement of judges from supreme court and high
courts are respectively? / भारतीय स耂ंवधान के अनसुार सव  سحجच 鹧鉧यायालय और उسحجच 鹧鉧यायालय삠ጀ से
सवेाዠတनविृ䥥ٿत के 耂लए 鹧鉧यायाधीश삠ጀ क怐တ आय ुﾈ있मशः हထነ?

65 year & 62 year / 65 वष㨺┺ और 62 वष㨺┺

65 year & 60 year / 65 वष㨺┺ और 60 वष㨺┺

65 year for both / 65 वष㨺┺ दोन삠ጀ के 耂लए

65 year and 63 year / 65 वष㨺┺ और 63 वष㨺┺

Correct Answer :­65 year & 62 year / 65 वष㨺┺ और 62 वष㨺┺ 

38)

Question Stimulus :­

A boy said to a girl ‘your mother’s husband’s sister is my aunt’. How the
girl is related to boy? / एक लड़के न ेएक लड़क怐တ स ेकहा 'त홭हारတတ मा ंके पዠတत क怐တ बहन मरेတတ चाची ह'ै।
लड़क怐တ का लड़के स ेᅜया सबंधं ह?ै



Sister / बहन

Aunt / चाची

Wife / प䥥ٿनी

Daughter / बटेတတ

Correct Answer :­Sister / बहन 

39)

Question Stimulus :­

According to our constitution Who is the chief executive head of the state?
/ हमार ेस耂ंवधान के अनसुार म乜⭜य काय㨺┺कारတတ रा덳齳ꦍ邍ा婦य⭒དྷ [राज ꖐ馐मखु] कौन ह?ै

Chief Minister / म乜⭜यम⣾ी

The President / रा덳齳ꦍ邍पዠတत

The Governor / गवन㨺┺र

None of these / इनम⼁⼁ स ेकोई भी नहတတं

Correct Answer :­The President / रा덳齳ꦍ邍पዠတत 

40)

Question Stimulus :­

DIRECTIONS: Study the following information carefully to answer the question: / ዠတनदဒश: ꖐ馐譳睳न का
उ䥥ٿतर दने ेके 耂लए ዠတन홭न耂ल耂खत जानकारတတ को 婦यान स ेपढ़⼁⼁:

P × Q means ‘P is brother of Q’ / P × Q का मतलब ह ै' P, Q का भाई ह'ै।

P ­ Q means ‘P is sister of Q’ / P ­ Q का मतलब ह ै' P, Q क怐တ बहन ह'ै।

P + Q means ‘P is mother of Q’ / P + Q का मतलब ह ै' P, Q क怐တ मा ँह'ै।

P ÷ Q means ‘P is father of Q’ / P ÷ Q का मतलब ह ै' P, Q का 耂पता ह'ै।

 

What does A + B ­ C means ? / A + B ­ C का मतलब ᅜया ह?ै



A is aunt of C / A, C क怐တ चाची ह।ै

A is father of C / A, C का 耂पता ह।ै

C is son of A / A, C का बटेा ह।ै

B is a girl / B एक लड़क怐တ ह।ै

Correct Answer :­B is a girl / B एक लड़क怐တ ह।ै 

41)

Question Stimulus :­

The Sabarmati river originates in which among the following ranges? /
साबरमती नदတတ ዠတन홭न耂ल耂खत पव㨺┺तमालाओ ंम⼁⼁ स े耂कसम⼁⼁ स ेዠတनकलती ह?ै

The Satpuras / सतपड़ुा

The Vindhyas / 耂व婦य

The Aravallis / अरावलတတ

The Western Ghats / पि譳睳चमी घाट

Correct Answer :­The Aravallis / अरावलတတ 

42)

Question Stimulus :­

Raman walks 5 km towards east, takes a right turn and walks 3 km, again
takes a right turn and walks 5 km. How far is he from the starting point? /
रमन, पवू㨺┺ क怐တ ओर 5 耂कमी चलता ह,ै 耂फर दाय⼁⼁ मड़ुता ह ैऔर 3 耂कमी चलता ह,ै 耂फर दाय⼁⼁ मड़ुता ह ैऔर 5 耂कमी चलता
ह।ै वह शጃ̀आती 䰁ఁबदं ुस े耂कतनी दरू ह?ै

1 km /1 耂कमी

5 km /5 耂कमी

3 km /3 耂कमी

2 km /2 耂कमी

Correct Answer :­3 km /3 耂कमी 



43)

Question Stimulus :­

Sundarbans in India is a fine example of which among the following kind
of forests? / भारत म⼁⼁ सुंदरवन ዠတन홭न耂ल耂खत ꖐ馐कार के वन삠ጀ म⼁⼁ स े耂कसका एक अسحجछा उदाहरण हထነ?

Dry Forests / श덳齳क वन

Deciduous Forests / पण㨺┺पाती वन

Tidal Forests / 䝝㝝वारတတय वन

None of these / उपरोᅜत म⼁⼁ स ेकोई नहတတं

Correct Answer :­Tidal Forests / 䝝㝝वारတတय वन 

44)

Question Stimulus :­

Tom walked 8 miles from point P towards east. He then took right turn and
walked 4 miles and then take another right turn and walked 4 miles to
point Q. In which direction is point P from point Q? / टॉम 䰁ఁबदं ुP स ेपवू㨺┺ क怐တ ओर 8
मील दरू चला। 耂फर वह दाय⼁⼁ मड़ुा और 4 मील चला और 耂फर दाय⼁⼁ मड़ुा और 䰁ఁबदं ुQ तक 4 मील चला। 䰁ఁबदंु
Q स े䰁ఁबदं ुP 耂कस ᘖᘏदशा म⼁⼁ ह?ै

North / उ䥥ٿतर

North­west / उ䥥ٿतर­पि譳睳चम

South­East / द耂⭒དྷण-पवू㨺┺

South / द耂⭒དྷण

Correct Answer :­North­west / उ䥥ٿतर­पि譳睳चम 

45)

Question Stimulus :­

Which article ensures the special status to North eastern states? / कौन सा अनسحجछदे पवू  䥥ٿतर रा䝝㝝य삠ጀ को
耂वशषे रा䝝㝝य का दजा㨺┺ सዠတनि譳睳चत करता ह?ै

Article 370 / अनسحجछदे 370



Article 371 / अनسحجछदे 371

Article 372 / अनسحجछदे 372

Article 398 / अनسحجछदे 398

Correct Answer :­Article 371 / अनسحجछदे 371 

46)

Question Stimulus :­

DIRECTIONS: Study the following information carefully to answer the question: / ዠတनदဒश: ꖐ馐譳睳न का
उ䥥ٿतर दने ेके 耂लए ዠတन홭न耂ल耂खत जानकारတတ को 婦यान स ेपढ़⼁⼁:

A.   There are five friends. / पाचँ दोⅴ읳त हထነ।

B.   They are standing in row facing south. / व ेद耂⭒དྷण क怐တ तरफ एक पिंᅜत म⼁⼁ खड़ ेहထነ।

C.   Jayesh is to the immediate right to Alok. / जयशे आलोक के 䰁ఁब鍰걯कुल दाဒ ओर ह।ै

D.   Pramod is in between Bhakti and Surabhi. / ꖐ馐मोद भिᅜत और सरु耂भ के बीच म⼁⼁ ह।ै

E.   Surabhi is in between Jayesh and Pramod. / सरु耂भ जयशे और ꖐ馐मोद के बीच म⼁⼁ ह।ै

Who is at the extreme left end? / कौन चरम बाए ंछोर पर ह?ै

Jayesh / जयशे

Surabhi / सरु耂भ

Alok / आलोक

Bhakti / भिᅜत

Correct Answer :­Alok / आलोक 

47)

Question Stimulus :­

In which year East India Company was brought under British
parliamentary control or under The Crown? / 耂कस साल म⼁⼁ ईⅴ읳ट इ耂ंडया कंपनी को
䰁ఁ䆑풐ᘖᘏटश ससंदတတय ዠတनय⣾ण या ﾈ있ाउन के तहत लाया गया था?



1773

1793

1813

1858

Correct Answer :­1858 

48)

Question Stimulus :­

Which among the following rivers in the india is known for maximum
average discharge? / भारत म⼁⼁ ዠတन홭न耂ल耂खत नᘖᘏदय삠ጀ म⼁⼁ स े耂कसको अ耂धकतम औसत ዠတनव㨺┺हन के 耂लए जाना जाता ह?ै

The Ganga / गगंा

The Brahmputra / 䆑풐텴筴मप⣾

Narmada / नम㨺┺दा

Godavari / गोदावरတတ

Correct Answer :­The Ganga / गगंा 

49)

Question Stimulus :­

Which among the following states produces Maximum Salt of India? /
ዠတन홭न耂ल耂खत रा䝝㝝य삠ጀ म⼁⼁ स ेकौन सा भारत का अ耂धकतम नमक पदैा करता ह?ै

Odisha / ओ耂डशा

Gujrat / गजुरात

Rajasthan / राजⅴ읳थान

West Bangal / पि譳睳चम बगंाल

Correct Answer :­Rajasthan / राजⅴ읳थान 

50)

Question Stimulus :­

Centralized Planning or Five Year plan system was adopted by India in which of the following



country? / के鹧鉧沏䮏တတकृत योजना या पचंवषᐚāय योजना प﷋ዠတत को भारत ᐵᓹवारा ዠတन홭न耂ल耂खत म⼁⼁ स े耂कस दशे म⼁⼁
अपनाया गया था?

Soviet Union / सो耂वयत सघं

France / 쒐뢐ासं

Japan / जापान

China / चीन

Correct Answer :­Soviet Union / सो耂वयत सघं 

51)

Question Stimulus :­

Five girls are sitting on a bench to be photographed. Seema is to the left of Reema and to the right
of Indu. Maya is to the right of Reema. Reeta is between Reema and Maya. Who is sitting
immediate right to Reeta? / पाचं लड़耂कया ँफोटो 耂खचंवान ेके 耂लए एक ब⼁⼁च पर बठैတတ हထነ। सीमा, रတတमा के बाဒ ओर
ह ैऔर इदं ुके दाဒ ओर ह।ै माया, रတတमा के दाဒ ओर ह।ै रတတता, रတတमा और माया के बीच म⼁⼁ ह।ै रတတता के 䰁ఁब鍰걯कुल दाဒ ओर
कौन बठैा ह?ै

Indu / इदंु

Reema / रတတमा

Maya / माया

Seema / सीमा

Correct Answer :­Maya / माया 

52)

Question Stimulus :­

Bohag Bihu is a festival in North East India, mainly in the state of ____? /
बोहाग 䰁ఁबह ूपवू  䥥ٿतर भारत म⼁⼁ म乜⭜य 〰〰प स े____ रा䝝㝝य म⼁⼁ एक 䥥ٿयोहार ह?ै

Assam / असम

Manipur / म耂णपरु

Meghalaya / मघेालय



Tripura / 䰁ఁ⣾परुा

Correct Answer :­Assam / असम 

53)

Question Stimulus :­

Which among following is not a Mega biodiversity Area in India? / ዠတन홭न耂ल耂खत म⼁⼁ स ेकौन सा भारत म⼁⼁
एक मगेा [बहतु बड़ा] जवै­耂व耂वधता ⭒དྷ⣾ नहတတ ंह?ै

Thar / थार

Western Ghats / पि譳睳चमी घाट

North­eastern states / पवू  䥥ٿतर रा䝝㝝य

Eastern hills / पवूᐚā पहा耂ड़यां

Correct Answer :­Thar / थार 

54)

Question Stimulus :­

DIRECTIONS: In the question below two statements are given followed by two conclusions
numbered I and II. You have to take the two given statements to be true even if they seem to be at
variance with the commonly known facts and then decide which of the given conclusions logically
follows from the two given statements, disregarding commonly known facts. / ዠတनदဒश : नीच ेᘖᘏदय ेगये
ꖐ馐譳睳 न म⼁⼁ दो कथन ᘖᘏदय ेगय ेह ैजो 耂क एक I और II ዠတन덳齳कष㨺┺ का अनसुरण करत ेह।ै आपको ᘖᘏदय ेगए कथन삠ጀ को स䥥ٿ य
मानना ह,ै भल ेहတတ व ेसव㨺┺晒䩒ात तⅦ๦ य삠ጀ स े耂भ鹧鉧 न ह삠ጀ। सभी ዠတन덳齳 कष㨺┺ पᘖᘏढ़य े耂फर ᘖᘏदय ेहएु 耂वक鍰걯प삠ጀ म⼁⼁ स ेतय क怐တिजए
क怐တ कौन सा ዠတन덳齳 कष㨺┺ ᘖᘏदए गय ेकथन삠ጀ का अनसुरण करता ह।ै

Statements:/ कथन:

Some children are women. / कुछ बسحجच ेऔरत ेहထነ।

Some women are oldies. / कुछ औरत ेबजुगु㨺┺ हထነ।

Conclusions: / ዠတन덳齳कष㨺┺:

I.  Some children are not oldies. / कुछ बسحجच ेबजुगु㨺┺ नहတတ ंहထነ।

II. Some women are not oldies. / कुछ औरतထነ बजुगु㨺┺ नहတတ ंहထነ।



If only conclusion I follows / यᘖᘏद केवल ዠတन덳齳कष㨺┺ I अनसुरण करता ह।ै

If only conclusion II follows / यᘖᘏद केवल ዠတन덳齳कष㨺┺ II अनसुरण करता ह।ै

If both I and II follows / यᘖᘏद दोन삠ጀ ዠတन덳齳कष㨺┺ I और II अनसुरण करत ेहထነ।

If neither I nor II follows / यᘖᘏद न तो ዠတन덳齳कष㨺┺ I न हတတ न덳齳कष㨺┺ II अनसुरण करता ह।ै

Correct Answer :­If neither I nor II follows / यᘖᘏद न तो ዠတन덳齳कष㨺┺ I न हတတ न덳齳कष㨺┺ II अनसुरण करता ह।ै 

55)

Question Stimulus :­

Which among the following is the first national park of India included in
tiger project ? / ዠတन홭न耂ल耂खत म⼁⼁ स ेकौन सा भारत का पहला रा덳齳ꦍ邍တတय उᐵᓹयान ह ैजो बाघ पတတरयोजना म⼁⼁ शा耂मल ह?ै

Bandipur / बादंတတपरु

Corbett / कॉबဒट

Periyar / पတेတरयार

Keoladeo / केवलादवे

Correct Answer :­Corbett / कॉबဒट 

56)

Question Stimulus :­

DIRECTIONS: In the question below two statements are given followed by two conclusions
numbered I and II. You have to take the two given statements to be true even if they seem to be at
variance with the commonly known facts and then decide which of the given conclusions logically
follows from the two given statements, disregarding commonly known facts. / ዠတनदဒश : नीच ेᘖᘏदय ेगये
ꖐ馐譳睳 न म⼁⼁ दो कथन ᘖᘏदय ेगय ेह ैजो 耂क एक I और II ዠတन덳齳कष㨺┺ का अनसुरण करत ेह।ै आपको ᘖᘏदय ेगए कथन삠ጀ को स䥥ٿ य
मानना ह,ै भल ेहတတ व ेसव㨺┺晒䩒ात तⅦ๦ य삠ጀ स े耂भ鹧鉧 न ह삠ጀ। सभी ዠတन덳齳 कष㨺┺ पᘖᘏढ़य े耂फर ᘖᘏदय ेहएु 耂वक鍰걯प삠ጀ म⼁⼁ स ेतय क怐တिजए
क怐တ कौन सा ዠတन덳齳 कष㨺┺ ᘖᘏदए गय ेकथन삠ጀ का अनसुरण करता ह।ै

Statements:/ कथन:

All balloons are fruits. / सभी गᝫ㉪बार ेफल हထነ।

Some fruits are hats. / कुछ फल टोपी हထነ।



Conclusions: / ዠတन덳齳कष㨺┺:

I.  Some balloons are hats. / कुछ गᝫ㉪बार ेटोपी हထነ।

II. Some hats are fruits. / कुछ टोपी फल हထነ।

If only conclusion I follows / यᘖᘏद केवल ዠတन덳齳कष㨺┺ I अनसुरण करता ह।ै

If only conclusion II follows / यᘖᘏद केवल ዠတन덳齳कष㨺┺ II अनसुरण करता ह।ै

If both I and II follows / यᘖᘏद दोन삠ጀ ዠတन덳齳कष㨺┺ I और II अनसुरण करत ेहထነ।

If neither I nor II follows / यᘖᘏद न तो ዠတन덳齳कष㨺┺ I न हတတ न덳齳कष㨺┺ II अनसुरण करता ह।ै

Correct Answer :­If only conclusion II follows / यᘖᘏद केवल ዠတन덳齳कष㨺┺ II अनसुरण करता ह।ै 

57)

Question Stimulus :­

Development expenditure of union government does not include? / क⼁⼁沏䮏
सरकार का 耂वकास 捳띲यय शा耂मल नहတတ ंकरता ह?ै

Grant to defence system / र⭒དྷा ꖐ馐णालတတ के 耂लए अनदुान

Expenditure on planning / योजना पर 捳띲यय

Expenditure of social schemes / सामािजक योजनाओ ंके 捳띲यय

Help to state / रा䝝㝝य के 耂लए मदद

Correct Answer :­Grant to defence system / र⭒དྷा ꖐ馐णालတတ के 耂लए अनदुान 

58)

Question Stimulus :­

DIRECTIONS: In the question below two statements are given followed by two conclusions
numbered I and II. You have to take the two given statements to be true even if they seem to be at
variance with the commonly known facts and then decide which of the given conclusions logically
follows from the two given statements, disregarding commonly known facts. / ዠတनदဒश : नीच ेᘖᘏदय ेगये
ꖐ馐譳睳 न म⼁⼁ दो कथन ᘖᘏदय ेगय ेह ैजो 耂क एक I और II ዠတन덳齳कष㨺┺ का अनसुरण करत ेह।ै आपको ᘖᘏदय ेगए कथन삠ጀ को स䥥ٿ य
मानना ह,ै भल ेहတတ व ेसव㨺┺晒䩒ात तⅦ๦ य삠ጀ स े耂भ鹧鉧 न ह삠ጀ। सभी ዠတन덳齳 कष㨺┺ पᘖᘏढ़य े耂फर ᘖᘏदय ेहएु 耂वक鍰걯प삠ጀ म⼁⼁ स ेतय क怐တिजए
क怐တ कौन सा ዠတन덳齳 कष㨺┺ ᘖᘏदए गय ेकथन삠ጀ का अनसुरण करता ह।ै



Statements:/ कथन:

Some actors are adults. / कुछ अ耂भनतेा वयⅴ읳क हထነ।

Some adults are poets. / कुछ वयⅴ읳क क耂व  हထነ।

Conclusions: / ዠတन덳齳कष㨺┺:

I.  Some actors are poets. / कुछ अ耂भनतेा क耂व हထነ।

II. Some poets are actors. / कुछ क耂व अ耂भनतेा हထነ।

If only conclusion I follows / यᘖᘏद केवल ዠတन덳齳कष㨺┺ I अनसुरण करता ह।ै

If only conclusion II follows / यᘖᘏद केवल ዠတन덳齳कष㨺┺ II अनसुरण करता ह।ै

If both I and II follows / यᘖᘏद दोन삠ጀ ዠတन덳齳कष㨺┺ I और II अनसुरण करत ेहထነ।

If neither I nor II follows / यᘖᘏद न तो ዠတन덳齳कष㨺┺ I न हတတ न덳齳कष㨺┺ II अनसुरण करता ह।ै

Correct Answer :­If neither I nor II follows / यᘖᘏद न तो ዠတन덳齳कष㨺┺ I न हတတ न덳齳कष㨺┺ II अनसुरण करता ह।ै 

59)

Question Stimulus :­

In the last one decade, which one among the following sectors has
attracted the highest foreign direct investment inflows into India? / 耂पछले
एक दशक के ዠတन홭न耂ल耂खत ⭒དྷ⣾삠ጀ म⼁⼁ स ेएक ह ैिजसन ेभारत म⼁⼁ सबस ेअ耂धक ꖐ馐䥥ٿय⭒དྷ 耂वदशेी ዠတनवशे
आक耂ष㨺┺त 耂कया ह?ै

Tele communication / दरूसचंार

Fertilizer / उव㨺┺रक

Food market / खाᐵᓹय बाजार

Railway / रलेवे

Correct Answer :­Tele communication / दरूसचंार 

60)

Question Stimulus :­



Paper currency Act was passed in India in? / कागजी म沏䮏ा अ耂धዠတनयम भारत म⼁⼁ पाတတरत
耂कया गया था?

1951

1989

1950

1861

Correct Answer :­1861 

61)

Question Stimulus :­

In 1982 the RBI’s responsibility with respect to regional rural bank was
transferred to? / 1982 म⼁⼁ ⭒དྷ⣾ीय 䢊ामीण बထነक के सबंधं म⼁⼁ တတरजव㨺┺ बထነक क怐တ िज홭मदेारတတ को
ⅴ읳थानातंတတरत 耂कया गया था?

ARDC

NABARD

SBI

PACS

Correct Answer :­NABARD 

62)

Question Stimulus :­

Which of the following figure represents the relationship among skirt, shirt, clothes? / ዠတन홭न आरखे
म⼁⼁ स ेकौन सा ⅴ읳कट㨺┺, शट㨺┺ और कपड़ ेके बीच सबंधं का ꖐ馐ዠတतዠတन耂ध䥥ٿव करता ह?ै

1

2



4

3

Correct Answer :­3 

63)

Question Stimulus :­

China has launched its ambitious transcontinental initiative Maritime Silk
Road(MSR). It will pass through which of the following 3 Southeast Asian
countries? / चीन न ेअपनी मह䥥ٿवाका⭒དྷी अतंरमहाᐵᓹवीपीय इዠတन耂शएᘖᘏटव सम沏䮏တတ 耂स鍰걯क रोड (MSR)लॉ鹧鉧च
क怐တ ह।ै यह ዠတन홭न耂ल耂खत 耂कन 3 द耂⭒དྷणपवूᐚā ए耂शयाई दशे삠ጀ के मा婦यम स ेपाတတरत होगी?

Vietnam, Japan, Indonesia/ 耂वयतनाम ,जापान ,इडंोन耂ेशया

Vietnam , Myanmar, Malaysia / 耂वयतनाम ,홭यामंार ,मल耂ेशया

Indonesia, Thailand and Myanmar / इडंोन耂ेशया ,थाईलထነड और 홭यामंार

Vietnam, Thailand and Malaysia / 耂वयतना  ,थाईलထነड और मल耂ेशया

Correct Answer :­Vietnam, Thailand and Malaysia / 耂वयतना  ,थाईलထነड और मल耂ेशया 

64)

Question Stimulus :­

Study the following Venn­diagram and answer the given question. /
ዠတन홭न耂ल耂खत वने आरखे का अ婦ययन कर⼁⼁ और ᘖᘏदए गए ꖐ馐譳睳न का उतर द⼁⼁।

Which number is present in only one figure? / कौन सी स乜⭜या केवल एक आरखे म⼁⼁ मौजदू ह?ै

1

5

3

7



Correct Answer :­7 

65)

Question Stimulus :­

‘Fire volcano’ started erupting in which of the following countries? / 'आग
䝝㝝वालामखुी 'ዠတन홭न耂ल耂खत 耂कन दशे삠ጀ म⼁⼁ 耂वⅴ읳फोट हआु?

Japan / जापान

Australia / ऑⅴ읳ꦍ邍耂ेलया

Indonesia / इडंोन耂ेशया

Guatemala / 湜幜वाटमेाला

Correct Answer :­Guatemala / 湜幜वाटमेाला 

66)

Question Stimulus :­

Which of the following is not a leap year? / ዠတन홭न耂ल耂खत म⼁⼁ स ेकौन सा एक लတတप वष㨺┺
[अ耂धवष㨺┺] नहတတ ंह?ै

2014

1980

2004

2000

Correct Answer :­2014 

67)

Question Stimulus :­

Trans­ Pacific Partnership is between how many countries? / ꦍ邍ासं­प耂ैस耂फक
पाट㨺┺नर耂शप 耂कतन ेदशे삠ጀ के बीच ह?ै

Seven / सात

Eight / आठ

Nine / नौ



Ten / दस

Correct Answer :­Nine / नौ 

68)

Question Stimulus :­

How many times do the hands of a clock point towards each other in day?
/ एक घड़ी के काटं ेएक ᘖᘏदन म⼁⼁ 耂कतनी बार एक­दसूर ेक怐တ तरफ इ耂ंगत करत ेहထነ?

12

22

20

24

Correct Answer :­22 

69)

Question Stimulus :­

Which of the following countries has recently launched its largest ever
missile warship named Tuo Chiang? / ዠတन홭न耂ल耂खत दशे삠ጀ म⼁⼁ स े耂कसन ेहाल हတတ म⼁⼁ आज तक
क怐တ सबस े耂वशाल टुओ耂चगं ना耂मत 耂मसाइल य﷋पोत का शभुारभं 耂कया गया ह?ै

China / चीन

Japan / जापान

South Korea / द耂⭒དྷण कोတတरया

Taiwan /ताइवान

Correct Answer :­Taiwan /ताइवान 

70)

Question Stimulus :­

European Space Agency has recently made history by placing the first ever  lander on a comet.
Name the lander? / यरूोपीय अतंတတर⭒དྷ एज⼁⼁सी न ेहाल हတတ म⼁⼁ एक धमूकेत ु पर सबस ेपहला लထነडर पहुंचाकर इዠတतहास
रच ᘖᘏदया ह।ै लထነडर का नाम बताए?ं

Phoenix /  फ़怐တዠတनᅜस



Lunar / लनूर

Philae / 耂फलाए

Morpheus /मॉ耂फ㨺┺यस

Correct Answer :­Philae / 耂फलाए 

71)

Question Stimulus :­

On the basis of the given two positions of single dice, find the letter at the face opposite to the face having letter A? / 耂कसी
पास ेक怐တ दो िⅴ읳थዠတत के आधार पर, अ䢊भाग के उस अ⭒དྷर का पता कर⼁⼁ जो 耂क अ䢊भाग िजसका अ⭒དྷर A के 耂वपरတတत ह?ै

B

E

C

D

Correct Answer :­E 

72)

Question Stimulus :­

United States has closed its embassy due to the on­going instability in
which of the following countries? / सयंᅜत रा䝝㝝य अमတेတरका न ेዠတन홭न耂ल耂खत दशे삠ጀ म⼁⼁ से
耂कसक怐တ चल रहတတ अिⅴ읳थरता क怐တ वजह स ेअपना दतूावास बदं कर ᘖᘏदया ह?ै

Yemen / यमन

Pakistan / पा耂कⅴ읳तान

Iraq / इराक

Nigeria / नाइजीတတरया

Correct Answer :­Yemen / यमन 



73)

Question Stimulus :­

The united nations Food and Agriculture Organization (FAO) declared 2015
as the? / सयंᅜत रा덳齳ꦍ邍 肐 खाᐵᓹय और कृ耂ष सगंठन) एफएओ (न े2015 क怐တ घोषणा 耂कस 〰〰प म⼁⼁ क怐တ ह?ै

International Year of Plants / पौध삠ጀ का अतंररा덳齳ꦍ邍တတय वष㨺┺

International Year of Rose / गलुाब का अतंररा덳齳ꦍ邍တတय वष㨺┺

International Year of Soils / 耂म頄ी का अतंररा덳齳ꦍ邍တတय वष㨺┺

International Year of Wood / लकड़ी का अतंररा덳齳ꦍ邍တတय वष㨺┺

Correct Answer :­International Year of Soils / 耂म頄ी का अतंररा덳齳ꦍ邍တတय वष㨺┺ 

74)

Question Stimulus :­

Which of the following country was ranked first in the Intellectual
Property index ? / ዠတन홭न耂ल耂खत दशे म⼁⼁ स े耂कस ेबौ耂﷋क सपंदा सचूकाकं म⼁⼁ पहल ेⅴ읳थान ꖐ馐दान 耂कया गया?

Singapore/ 耂सगंापरु

USA / सयंᅜत रा䝝㝝य अमरेတတका

Thailand / थाईलထነड

Russia / 〰〰स

Correct Answer :­USA / सयंᅜत रा䝝㝝य अमरेတတका 

75)

Question Stimulus :­

An unfolded dice is given. You are required to choose correct answer choice which is formed by
folding the unfolded dice. / एक 䰁ఁबना मोड़ा हआु पासा ᘖᘏदया गया ह।ै आपको उस सहတတ उ䥥ٿतर का चयन
करना ह ैजो 耂क ዠတनच ेᘖᘏदए गए पास ेको मोड़न ेपर 耂मलगेा।



Correct Answer :­  

76)

Question Stimulus :­

Which of the following countries has become the first in the world to allow
the creation of babies from 3 people? / ዠတन홭न耂ल耂खत दशे삠ጀ म⼁⼁ स ेकौन सा 3 लोग삠ጀ स ेबسحجच삠ጀ
को ज鹧鉧म दने ेक怐တ अनमुዠတत ꖐ馐ा뵧ꩧत दዠတनया का पहला दशे ह?ै

China / चीन

UK / 䰁ఁ䆑풐टने



France / 쒐뢐ासं

Russia /〰〰स

Correct Answer :­UK / 䰁ఁ䆑풐टने 

77)

Question Stimulus :­

What should come next in the following sequence of letters? / ᘖᘏदए हएु अ⭒དྷरो
के ﾈ있म म⼁⼁ अगला अ⭒དྷर ᅜया होगा?

H H I H I J H I J K H I J K L H I J K?

M

L

H

N

Correct Answer :­L 

78)

Question Stimulus :­

According to the Times Higher Education World Reputation ranking 2015 ,
which of the following university has secured first place? / टाइ홭स हायर
एजकुेशन व鍰걯ड㨺┺ ꖐ馐ዠတत덳齳ठा रထነ耂कंग 2015 के अनसुार ዠတन홭न耂ल耂खत 耂व譳睳व耂वᐵᓹयालय삠ጀ म⼁⼁ स े耂कसन ेꖐ馐थम ⅴ읳थान
हा耂सल 耂कया ह?ै

Cambridge university / कैि홭䆑풐ज 耂व譳睳व耂वᐵᓹयालय

Oxford university / ऑᅜसफोड㨺┺ 耂व譳睳व耂वᐵᓹयालय

Harvard university / हाव㨺┺ड㨺┺ 耂व譳睳व耂वᐵᓹयालय

Indian institute of Technology / भारतीय ꖐ馐ौᐵᓹयो耂गक怐တ सⅴ읳थान

Correct Answer :­Harvard university / हाव㨺┺ड㨺┺ 耂व譳睳व耂वᐵᓹयालय 

79)

Question Stimulus :­



DIRECTIONS: Study the following information carefully to answer the question: / ዠတनदဒश: ꖐ馐譳睳न का
उ䥥ٿतर दने ेके 耂लए ዠတन홭न耂ल耂खत जानकारတတ को 婦यान स ेपढ़⼁⼁:

A, B, C, D and E are five friends who like different places. A, C and E likes
Goa, B, C and D likes Ladakh, A, B and E likes Punjab, B, C and E likes
Shimla. A and D likes Manali, B, D and E likes Bangalore. / A, B, C, D और E
पाचँ दोⅴ읳त ह ैजो 耂क 耂व耂भ鹧鉧न जगह삠ጀ को पसदं करत ेहထነ। A, C और E गोवा को पसदं करत ेहထነ, B, C
और D ल폋뻋ाख को पसदं करत ेहထነ, A, B और E पजंाब को पसदं करत ेहထነ, B, C और E 耂शमला को पसदं
करत ेहထነ, A और D मनालတတ को पसदं करत ेहထነ,B, D और E ब⼁⼁गलौर को पसदं करत ेहထነ।

Which places does C like? / 耂कस जगह को C पसदं करता हထነ?

Shimla, Goa, Bangalore / 耂शमला, गोवा, बगेलौर

Ladakh, Shimla, Punjab / ल폋뻋ाख, 耂शमला, पजंाब

Goa, Ladakh, Shimla / गोवा, ल폋뻋ाख, 耂शमला

Goa, Ladakh, Manali / गोवा, ल폋뻋ाख, मनालတတ

Correct Answer :­Goa, Ladakh, Shimla / गोवा, ल폋뻋ाख, 耂शमला 

80)

Question Stimulus :­

DIRECTIONS: Study the following information carefully to answer the question: / ዠတनदဒश: ꖐ馐譳睳न का
उ䥥ٿतर दने ेके 耂लए ዠတन홭न耂ल耂खत जानकारတတ को 婦यान स ेपढ़⼁⼁:

A lady plans to visit six shops to buy her stuff. The shops are A, B, C, D, E
and F which she visits exactly once. She decided: / एक मᘖᘏहला अपना सामान
खरတတदन ेहते ुछः दकुान삠ጀ पर जाना ዠတनि譳睳चत करती ह।ै A, B, C, D, E और F दकुान⼁⼁ हထነ िजन पर वह
केवल एक हတတ बार जाती ह।ै उसन ेዠတनधा㨺┺တတरत 耂कया 耂क: 

(i) She must visit A before B and E ./ उस ेB और E स ेपवू㨺┺ A पर अव譳睳य जाना चाᘖᘏहय।े

(ii) She must visit B before D. / उस ेD स ेपवू㨺┺ B पर अव譳睳य जाना चाᘖᘏहय।े

(iii) The third shop she visited must be C which is just after B. / तीसरတတ दकुान
िजस पर वह जाएगी, वह ዠတनि譳睳चत हတတ C होनी चाᘖᘏहय ेजो 耂क B के तरुतं बाद होगी।

Which is the first shop she visited? / वह सबस ेपहल े耂कस दकुान पर गई?



D

A

C

B

Correct Answer :­A 

81)

Question Stimulus :­

The HCF and LCM of two numbers are 8 and 48 respectively. If one of the numbers is 24, then the
other number is? 

दो स乜⭜या का लघतुम समापवत㨺┺क और मह䥥ٿतम समापव䥥ٿय㨺┺ ﾈ있मशः 8 और 48 ह।ै इनम⼁⼁ स ेएक स乜⭜या 24 ह ैतो
दसूरတတ स乜⭜या 晒䩒ात कर।े

48

36

24

16

Correct Answer :­16 

82)

Question Stimulus :­

If the digits of a two digit number are interchanged the newly formed number is more than the
original number by 18 and sum of the digit is 8 then what was the original number? / यᘖᘏद दो अकंो
क怐တ एक स乜⭜या के अकंो को आपस म⼁⼁ बदल ᘖᘏदया जाय ेतो इस ꖐ馐कार ꖐ馐ा뵧ꩧत नयी स乜⭜या मलू स乜⭜या स े18 अ耂धक है
और स乜⭜या के अकंो का योग 8 ह,ै तो मलू स乜⭜या ᅜया थी ?

53

26

35

Cannot be determined/ዠတनधा㨺┺တတरत नहတတ ं耂कया जा सकता

Correct Answer :­35 

83)



Question Stimulus :­

What should come in place of the question mark (?) in the following question?

/ ዠတन홭न耂ल耂खत ꖐ馐譳睳न म⼁⼁ (?) के ⅴ읳थान पर ᅜया आना चाᘖᘏहए

1111.1 + 111.11 + 11.111 = ?

1232.231 

 1233.123

1332.331 

 None of these / इनम ेस ेकोई नहတတं

Correct Answer :­ None of these / इनम ेस ेकोई नहတတ ं

84)

Question Stimulus :­

A 4­digit number is formed by repeating a 2­digit number such as 2424, 1212 etc. Any number of
this form is always exactly divisible by? / एक 4 अकंो क怐တ स乜⭜या 2 अकंो क怐တ पनुराविृ䥥ٿत स ेबनाई गई ह ैजसैे
2424, 1212 इ䥥ٿयाᘖᘏद | इस ꖐ馐कार क怐တ कोई भी स乜⭜या हमशेा ዠတन홭न म⼁⼁ स े耂कसस े耂वभािजत होगी

7

11

13

101

Correct Answer :­101 

85)

Question Stimulus :­

Which of the following is least number? /ዠတन홭न म⼁⼁ स ेसबस ेछोटတတ स乜⭜या कौन सी ह?ै

13/22      

15/24

17/26

19/28



Correct Answer :­13/22       

86)

Question Stimulus :­

In an examination a candidate who got 30% of the total marks failed by 8 marks. Another
candidate who got 35% marks scored 12 marks more than the passing marks. Total marks are? /
एक परတတ⭒དྷा म⼁⼁ एक परတတ⭒དྷाथᐚā िजस ेकुल अकंो के 30% अकं ꖐ馐ा뵧ꩧत हएु हထነ, 8 अकंो स ेअन䥥ٿतीण㨺┺ हआु | एक अ鹧鉧य
परတတ⭒དྷाथᐚā िजस ेकुल अकंो के 35 % अकं ꖐ馐ा뵧ꩧत हएु हထነ, उसके अकं उ䥥ٿतीणाတ᩠को स े12 अकं अ耂धक हထነ | कुल अकं हထነ?

500

400

800

300

Correct Answer :­400 

87)

Question Stimulus :­

If Rs.12,000 is divided into two parts such that the simple interest on the first part for 3 years at
12% per annum is equal to the simple interest on the second part for 4.5 years at 16 % per annum,
the greater part is? / 12,000  ጃ̀पय ेको दो भाग삠ጀ म⼁⼁ इस तरह बॉटा जाता ह ै耂क पहल ेभाग पर12%  क怐တ दर स े3
वषတတ का साधारण ᝫ㉪याज ,दसूर ेभाग पर 16%  वा耂ष㨺┺क ᝫ㉪याज क怐တ दर स े4.5 वष㨺┺ क怐တ साधारण ᝫ㉪याज  के बराबर ह ै,तो
बड़ा भाग ᅜया ह?ै 

Rs.8,000         

 Rs.6,000

 Rs.7,000

Rs 7,500

Correct Answer :­Rs.8,000          

88)

Question Stimulus :­

A, B and C are partners in a business. A puts in Rs. 350, B Rs. 450 and C Rs. 550. What is the
share of C in a profit of Rs. 405 at the end of the year? / A, B और C 耂कसी 捳띲यवसाय म⼁⼁ सहभागी ह।ै A ने
350 〰〰पय,े B न े450 〰〰पय ेऔर C न े550 〰〰पय ेलगाए ह।ै यᘖᘏद वष㨺┺ के अतं म⼁⼁ 405 〰〰पय ेका लाभ होता ह ैतो C का



लाभ म⼁⼁ ᘖᘏहⅴ읳सा 耂कतना होगा?

Rs. 138   

Rs. 285

Rs. 340

 Rs. 165

Correct Answer :­ Rs. 165 

89)

Question Stimulus :­

Three years ago the average age of a family of 5 members was 27 years. On the addition of a child
to the family, the present average age of the family is still 27 years. Find the present age of the
child? / तीन वष㨺┺ पवू㨺┺ एक पတတरवार के 5 सदⅴ읳य삠ጀ 耂क औसत आय ु27 वष㨺┺ थी । एक बسحجच ेके पတတरवार म⼁⼁ श耂मल होने
पर, वत㨺┺मान म ेभी पတတरवार क怐တ औसत आय ु27 वष㨺┺ हတတ ह ै। बسحجच ेक怐တ वत㨺┺मान आय ु晒䩒ात कर⼁⼁ ?

16 years /16 वष㨺┺  

12 years /12 वष㨺┺

24 years /24 वष㨺┺

20 years / 20 वष㨺┺

Correct Answer :­12 years /12 वष㨺┺ 

90)

Question Stimulus :­

54 is divided into two parts, so that 10 times the first and 22 times the second are together equal to
780. Find the product of the two numbers. /54 को दो भागो म⼁⼁ इस तरह 耂वभािजत 耂कया जाता ह ै耂क पहले
भाग का 10 गनुा और दसूर ेभाग का 22 गनुा का योग  780 के बराबर ह।ै तो दोन삠ጀ भागो का गणुनफल 晒䩒ात कर।े

408

562

860

680

Correct Answer :­680 



91)

Question Stimulus :­

A mixture contains milk and water in the ratio 3:2. If it contains 3 liters more milk than water,
then find the quantity of milk in the mixture. / एक 耂म薔熔ण म⼁⼁ दधू और पानी का अनपुात 3:2 ह।ै यᘖᘏद
耂म薔熔ण म⼁⼁ दधू पानी स ेतीन लတတटर अ耂धक ह ैतो 耂म薔熔ण म⼁⼁ दधू क怐တ मा⣾ा 晒䩒ात कर⼁⼁।

10 litres / 10 लတတटर

12 litres / 12 लတတटर

8 litres / 8 लတတटर

9 litres / 9 लတတटर

Correct Answer :­9 litres / 9 लတတटर 

92)

Question Stimulus :­

A boy goes to school at the speed of 3 km per hour and returns at a speed of 2 km/hr. If he takes 5
hours in all, the distance of school is: (in km) / एक लड़का 3 耂क. मी. ꖐ馐ዠတत घटं ेक怐တ गዠတत स ेⅴ읳कूल जाता ह ैऔर
2 耂क. मी. ꖐ馐ዠတत घटं ेक怐တ गዠတत स ेवापस आता ह,ै यᘖᘏद उस ेकुल 5 घटं ेलगत ेहထነ तो ⅴ읳कूल क怐တ दरूတတ ह:ै (耂क. मी. म⼁⼁)

6

7

8

9

Correct Answer :­6 

93)

Question Stimulus :­

If 3 men or 4 women can reap a field in 30 days, how long will 3 men and 6 women take to reap it? /
3 पጃ̀ष या 4 मᘖᘏहलाए ंएक खते को 30 ᘖᘏदन삠ጀ म⼁⼁ काट सकत ेहထነ, उसी खते को काटन ेम⼁⼁ 3 पጃ̀ष삠ጀ और 6 मᘖᘏहलाओ ंको
耂कतना समय लगगेा?

21 days/ 21 ᘖᘏदन



 16 days/ 16 ᘖᘏदन

18 days/ 18 ᘖᘏदन

12 days/ 12 ᘖᘏदन

Correct Answer :­12 days/ 12 ᘖᘏदन 

94)

Question Stimulus :­

In how many different ways can the letters of the word ‘ARCHIVE’ be arranged? / शᝫ㉪द
‘ARCHIVE’ के अ⭒དྷर삠ጀ को 耂कतन े耂भ鹧鉧न तरတတक삠ጀ स ेपनु捳띲य㨺┺विⅴ읳थत 耂कया जा सकता ह?ै

2630

5040

1680

 None of these / उपरोᅜत म⼁⼁ स ेकोई नहတတं

Correct Answer :­5040 

95)

Question Stimulus :­

A bag contains 2 red marbles, 3 green marbles and 4 blue marbles. A marble is picked at random
from the bag. What is the probability that the marble is not a blue marble? / एक बगै म⼁⼁ 2 लाल माब㨺┺ल,
 3हर ेमाब㨺┺ल और 4 नील ेमाब㨺┺ल हထነ । बगै म⼁⼁ स ेअ晒䩒ात 〰〰प स ेएक माब㨺┺ल ዠတनकाला जाता ह।ै माब㨺┺ल का नीला माब㨺┺ल ना
होन ेक怐တ ᅜया सभंावना ह?ै

4/9

5/9

 1/9

2/3

Correct Answer :­5/9 

96)

Question Stimulus :­



The volume of a right circular cylinder is 392  cm3 and its height is 8 cm. Find the radius. / एक
बलेन का आयतन 392  cm3  ह ैऔर उसक怐တ ऊँचाई 8 cm ह।ै 䰁ఁ⣾䝝㝝या 晒䩒ात क怐တिजए।

6 cm

7 cm

8 cm

9 cm

Correct Answer :­7 cm 

97)

Question Stimulus :­

Given below is a table, showing the number of students of different classes of modern public
school. Study the table carefully and answer the questions / ዠတन홭न ता耂लका म⼁⼁ मॉडन㨺┺ पिᝫ㉪लक ⅴ읳कूल के
अलग अलग क⭒དྷाओ ंके 耂वᐵᓹया耂थ㨺┺य삠ጀ क怐တ स乜⭜या दशा㨺┺यी गई ह ै| ता耂लका का 婦यान पवू㨺┺क अ婦ययन कर⼁⼁ और ꖐ馐譳睳नो के
उ䥥ٿतर द⼁⼁ |

Class/
क�ाएं

Total number of
students/ कुल
�व�या�थ�य� क� स�ंया

Ratio of boys to girls / लड़को
एव ंलड़�कय� का अनपुात

VI 64 3:1
VII 72 5:7
VIII 55 2:3
IX 75 2:1
X 52 1:1

Find the approximate percentage of no of girls in the given classes / दတတ हईु क⭒དྷाओ ंम⼁⼁ लड़耂कय삠ጀ का
लगभग ꖐ馐ዠတतशत 晒䩒ात कर⼁⼁

45%

50%

 42%

55%

Correct Answer :­45% 

98)

Question Stimulus :­



Given below is a table, showing the number of students of different classes of modern public
school. Study the table carefully and answer the questions / ዠတन홭न ता耂लका म⼁⼁ मॉडन㨺┺ पिᝫ㉪लक ⅴ읳कूल के
अलग अलग क⭒དྷाओ ंके 耂वᐵᓹया耂थ㨺┺य삠ጀ क怐တ स乜⭜या दशा㨺┺यी गई ह ै| ता耂लका का 婦यान पवू㨺┺क अ婦ययन कर⼁⼁ और ꖐ馐譳睳नो के
उ䥥ٿतर द⼁⼁ |

Class/

क�ाएं

Total number of
students/

कुल �व�या�थ�य� क� स�ंया

Ratio of boys to girls /

लड़को एव ंलड़�कय� का अनपुात

VI 64 3:1
VII 72 5:7
VIII 55 2:3
IX 75 2:1
X 52 1:1

In how many of the given classes girls are not less than boys? / दတတ हईु  क⭒དྷाओ ंम⼁⼁ स े耂कतनी क⭒དྷा म⼁⼁
लड़耂कय삠ጀ क怐တ स乜⭜या लड़क삠ጀ स ेकम नहတတ ंह?ै

1

2

3

None of these / उपरोᅜत म⼁⼁ स ेकोई नहတတं

Correct Answer :­3 

99)

Question Stimulus :­

DIRECTIONS: This question is followed by two statements 1 and 2. Indicate your responses based
on the given choices? / ዠတनदဒश :  इस ꖐ馐譳睳न म⼁⼁ दो कथन 1 और 2 ᘖᘏदय ेहएु हထነ।अपनी ꖐ馐ዠတत耂ﾈ있या को ᘖᘏदय ेहएु
耂वक鍰걯पो के आधार पर अ耂ंकत कर⼁⼁?

Is the product of x and y greater than 60? / ᅜया x और y का गणुनफल 60 स ेअ耂धक ह?ै

Statement 1: The sum of x and y is greater than 60/ कथन1: x और y का योगफल 60 स ेअ耂धक ह।ै

Statement 2: Each of the variable is greater than 2/ कथन2:ꖐ馐䥥ٿयके चर का मान 2 स ेअ耂धक ह।ै

 If a question can be answered by using statement 1 alone but not by using statement 2 alone/
यᘖᘏद ꖐ馐譳睳न का उ䥥ٿतर केवल कथन 1 के उपयोग स ेᘖᘏदया जा सके पर鹧鉧त ुकथन 2 के उपयोग स ेनहတတ।ं

If a question can be answered by using statement 2 alone but not by using statement A alone/



यᘖᘏद ꖐ馐譳睳न का उ䥥ٿतर केवल कथन 2 केउपयोग स ेᘖᘏदया जा सके पर鹧鉧त ुकथन 1 के उपयोग स ेनहတတ।ं

If the question can be answered by using statement 1 and statement 2 together but not by
using either statement 1 or statement 2 alone / यᘖᘏद ꖐ馐譳睳न का उ䥥ٿतर कथन 1 और कथन 2 के एक साथ
उपयोग स ेᘖᘏदया जा सके पर鹧鉧त ु耂कसी भी एक कथन 1 या 2 के उपयोग स ेनहတတ।ं

If the question cannot be answered even by using statement 1 and statement 2 together/ यᘖᘏद
ꖐ馐譳睳न का उ䥥ٿतर दोनो कथनो 1 और 2 के एक साथ उपयोग स ेभी न ᘖᘏदया जा सके।

Correct Answer :­If the question can be answered by using statement 1 and statement 2 together
but not by using either statement 1 or statement 2 alone / यᘖᘏद ꖐ馐譳睳न का उ䥥ٿतर कथन 1 और कथन 2 के
एक साथ उपयोग स ेᘖᘏदया जा सके पर鹧鉧त ु耂कसी भी एक कथन 1 या 2 के उपयोग स ेनहတတ।ं 

100)

Question Stimulus :­

DIRECTIONS: This question is followed by two statements 1 and 2. Indicate your responses based
on the given choices? / ዠတनदဒश :  इस ꖐ馐譳睳न म⼁⼁ दो कथन 1 और 2 ᘖᘏदय ेहएु हထነ। अपनी ꖐ馐ዠတत耂ﾈ있या को ᘖᘏदय ेहएु
耂वक鍰걯पो के आधार पर अ耂ंकत कर⼁⼁?

If a and b are two natural numbers. What is the value of a?/ यᘖᘏद a और b दो ꖐ馐ाकृत स乜⭜याए ंहထነ । a का
मान ᅜया ह?ै

Statement 1: The sum of a and b is 16 / कथन1:a और b का योगफल 16  ह।ै

Statement 2:The sum of the reciprocals of a and b is equal to 4 times the product of a and b/
कथन2:a और b के 捳띲य䥥ٿﾈ있मो का योगफल a और b के गणुनफल का चार गनुा ह।ै

If a question can be answered by using statement 1 alone but not by using statement 2 alone/
यᘖᘏद ꖐ馐譳睳न का उ䥥ٿतर केवल कथन 1 के उपयोग स ेᘖᘏदया जा सके पर鹧鉧त ुकथन 2 के उपयोग स ेनहတတ।ं

 If a question can be answered by using statement 2 alone but not by using statement A alone/
यᘖᘏद ꖐ馐譳睳न का उ䥥ٿतर केवल कथन 2 केउपयोग स ेᘖᘏदया जा सके पर鹧鉧त ुकथन 1 के उपयोग स ेनहတတ।ं

If the question can be answered by using statement 1 and statement 2 together but not by
using either statement 1 or statement 2 alone / यᘖᘏद ꖐ馐譳睳न का उ䥥ٿतर कथन 1 और कथन 2 के एक साथ
उपयोग स ेᘖᘏदया जा सके पर鹧鉧त ु耂कसी भी एक कथन 1 या 2 के उपयोग स ेनहတတं

If the question cannot be answered even by using statement 1 and statement 2 together/ यᘖᘏद
ꖐ馐譳睳न का उ䥥ٿतर दोनो कथनो 1 और 2 के एक साथ उपयोग स ेभी न ᘖᘏदया जा सके।



Correct Answer :­If the question cannot be answered even by using statement 1 and statement 2
together/ यᘖᘏद ꖐ馐譳睳न का उ䥥ٿतर दोनो कथनो 1 और 2 के एक साथ उपयोग स ेभी न ᘖᘏदया जा सके। 


